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-�$�"$'�+ - � +�� 6��#�+�� ��'J "$�� I

~E = −∂
~A

∂t

~B = ~∇∧ ~A� "� +� J'�� �
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{

~A0e
iψ
}
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ψ = ωt− kx
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













A0lêy
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A0lêz
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~E =







ωA0l sin(ψ)êy
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
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
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êy
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ω
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v > c
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�
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�$
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me
d~v

dt
= e ~E

�$ � J'$���� J �$ I
~v =

e ~A0

me

eiψ

0� - � #7$�� � "� �'# �"�'�"
a0

��$ ��"� I

a0 =
|~v|
c

=
eA0

mec4" -��$ ��#  �E��� E�� ��$$� �&-����'�" ��$ '��"$'E�� 1 ��++� �� -�$�"$'�+ J��$��� "��#  ,
+'�2 �
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I0 = |~S| =
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µ0

|( ~E ∧ ~B)| =
ω2

µ0c
A0
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








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2
(1 + sin(2ψ))
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


















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e2

2π2me
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2
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2 = 0.85
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~Fp = − e2

2γme

~∇A2 → −A
2

dx
∼ −A

2

cτ

A�$$� ���"'7�� �&-����'�" ��$ J + 3+� �' +� "�#3�� �� - 2�'���� �� + �'#-�+�'�" + ��� ��$
��� � ##�"$ D� "� -��� E�� + ��"J�+�--� $�#-���++� -�'��� �$�� ��"�'�2�2� ��##� 2$ "$
+�"$�# �"$ J �' 3+� �

0 6���� �� � --�+ " �2$ "$ E�� +�"D'$��'" +� 	 + �'"J �' "�� �� #�# �"$ � "�"'E�� $� "�,
J���� ��$ �"���� J2�'
2� �$ + �2E� $'�" �� #��J�# �"$ $� "�J���� � �2��'$ 	 ��##� � "� +� � �
�� + �2+��$��" +'3�� I

d

dt

(

p⊥ + e ~A⊥

)

= 0

F��� + - �$'� +�"D'$��'" +� 	 �" $�" "$ ��#-$� �� + 6���� �� � --�+ ��� '�"� 	 + �2E� $'�"
� �2��'$ I

dpx
dt

= −e
2ne0
ε0

x− e2

2γme

∇A2

�' + 6���� �� � -- �+ ��$ '#-��$ "$� 	 �++� - ��$ ��#-�"��� +� #��J�#�"$ �� �2�'J� ��
+ �2+��$��" �$ � "� �� � � I

dpx
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= 0 → e2ne0
ε0

xs = − e2

2γme
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e2
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eω

2
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cτ
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xs
��$ + J +��� �� + �'�$ "�� +�"D'$��'" +� -��� + E��++� + �� �$ �� + 6���� �� � --�+

��$ '#-��$ "$ �
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x
� ��" 2+��$��" +'3�� ��$ �"'E��#�"$ ��� 1 + 6���� -�"�2��# �$�'�� �$ J �$ I

xd =
e2

4γm2
e

∇A2

cτ
τ 2 �* ��/�

�" �3$'�"$ +� � --��$ ��� �2-+ ��# �"$� � ��" 2+��$��" +'3�� �$ � ��" 2+��$��" �" -�2��"��
� �'�"� I

xs
xd

=
2

(ωpτ)2

�* ��K�
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ωpτ >> 1
 +���

xd >> xs
� 0 �'�$ "�� - ������� - � + �2+��$��" +'3�� ��$ -+��

D� "�� E�� + �'�$ "�� "2���� '�� -��� E�� + �� �$ ��� '�"� -�'��� ��#-�"��� +� #��,
J�# �"$ �� �2�'J� � A��' J��$ �'�� E�� + 6���� �� � --�+  +� $�#-� �� ��� �$�� �

� �� ��"$� '�� 	 �'
ωpτ << 1

 +���
xd << xs

� 0 �'�$ "�� - ������� - � + �2+��$��" +'3��
��$ '"62�'���� 1 ��++� "2���� '�� -��� E�� + �� �$ ��� '�"� ��'$ '# -��$ "$ � 0 6���� ��
� -- �+ " � - � +� $�#-� �� ��� �$�� �$ �++� "� - ��$ - � ��#-�"��� +� #��J�# �"$ ��
�2�'J� �

0 �'# -��$ "�� �� + �� �$ �� + 6���� �� � --�+ ��� '�"� �2- �"� ��"� �� + ��"�'$2 2+��,
$��"'E�� �� -+ �#  �J' 

ωp
� �$ �� + ���2� �� + �'#-�+�'�" + ���

τ
�

L&-2�'# �"$ +�# �"$ "��� �$'+'��"� �" + ��� ��"$ + ���2� � �'# -�+�'�" ��$ 
&� �$ 2D +�
1
τL = 30fs

� 0�� ��"�'$2� �� -+ �#  J �'�"$ E� "$ 1 �++�� �"$��
ne = 5.1017 �$

5.1019 �#
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1 < ωpτL < 12
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O "� +� � ��� �� #��7+� �O E�� "��� �$'+'��"� 	 + �2E� $'�" �� #��J�#�"$ � ��" 2+��$��"
���# '� 1 + 6���� �� 0���"$�  ����'2�  � �) #- 2+��$��#  D"2$'E�� �� + ��� �$ 1 + 6����
�� � --�+ ��� '�"� 	 � �2��'$ I

d~p

dt
= −e

(

~E + ~v × ~B
)

− e2ne0
ε0

xêx

H� '$ "$ �� -��3+7# � 	 L �L� ��! �$  + � 
**� �� -+ �� � "� �"� �'$� $'�" �&$��#� -���
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��� 2+��$��"� � �+ �& '�$� � "� �� � � �"� ��+�$'�"  " +!$'E�� 1 + �2E� $'�" �' 2��"$'�++� �$
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�� + ��� ��$ +'"2 '�� 
*/� 	
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�� � � ��
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� �
����� 
/.� � L ++�
� � --+'E�� �'���$�# �"$ 1 "�$�� � � �' �" 2��'$ + �2E� $'�" �� #��J�# �"$ ���� + 6��# � I

d~R

dt
= F (~R, t)
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ne = 5× 1018
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F
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(6 × 6)
��"$�" "$ $��� +�� $��# �� �� 6����� �
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sin2� � L ++� -�����
+ �2+��$��" J��� + � J "$ � ��+� ',�'  �E�'��$ �" #��J�# �"$ �� �2�'J� +�"D'$��'" + �

L"
" 	 ��� +� 6��"$ �����"� "$ 	 + 6���� -�"�2��#�$�'�� �) "D� �� ��"� � � +� D� �'�"$



� �� � �
� ������
� � �����
�� ���� �� ������ //

−0.6

−0.4

−0.2

0

0.2

0.4

0.6

0 2 4 6 8 10 12 14 16

Y
/λ

X/λ

−0.4

−0.2

0

0.2

0.4

0 2 4 6 8 10 12

Y
/λ

X/λ

��� � � �� � �	 
� �
 
� ����
 �
 
 ���� �
���� 
�� 
� � �� �
����� �

�������� 
 
�� �� �

 �
1×1019

��
−3 � ������ 
 
� ����
 �
 
 ���� �
���� 
�� 
� ���� 
��
� 
 �
	 
� �
 
�  ���
 �
 ���� 

 �
� ����

� ����
��� 
�

! "#$%&$'#%( )*+$,& !& '&$' &% &--& ' "+. /0%& 1 -+ 2/3)& !& 3+44&- !&' #/$' 4/03 3+5 &$&3 - "(-&)6
%3/$ 7&3' - "+33#83& � 9 "(-&)%3/$ 3&7#&$% +-/3' 7&3' '+ 4/'#%#/$ #$#%#+-& � 9& )+-)0- 43('&$%( #)#
' "+338%& 0$& 2/#' :0& - "(-&)%3/$ + :0#%%( - "#5 40-'#/$ -+'&3 ; +438' )& 5 /07&5 &$% 3(43('&$%( <
- "(-&)%3/$ /')#--& +0%/03 !& - "#/$ �

9/3':0& -& -+'&3 &'% 4/-+3#'( -#$(+#3&5 &$% < -+ %3+. &)%/#3& &'% %/0. /03' �= 40#':0& -+ 2/3)&
!& 3+44&- $ "&'% :0& -/$,#%0!#$+-& !+$' $/%3& 5 /!8-& � >&4&$!+$% < )/$%3+#3&5 &$% +0 )+'
! "0$ (-&)%3/$ -#?3& < )&-0#6)# $ "&'% . +5 +#' +0 3&4/' 4+3)& :0& -+ 2/3)& !& 3+44&- $ "&'% . +5 +#'
$0--& 4 &$!+$% -& 5 /07&5 &$% � 9/3':0& -& -+'&3 &'% 4/-+3#'( )#3)0-+#3&5 &$% < -+ %3+. &)%/#3& 1
-+ 2/35 & ! "0$& '4#3+-& @= &% '/$ (7/-0%#/$ &$ 2/$)%#/$ !0 %&5 4' ' "&A4-#:0& !& -+ 5 B5 &
5 +$#83& �

CDEF GE HI GEJKLFM MHENFOPJLQRE EF GE HI GROME GE HSLT URHKLPJ HIKEO

V/0' +7/$' 70 :0& - "#5 4/3%+$)& !& - "&W&% !& -+ 2/3)& !& 3+44 &- !&' #/$' !0 4-+'5 +
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6���� �� � --�+ ��� '�"� �� -+ �#  ��J'�"$ -+�� '#-��$ "$ �

��� + 
D��� * �( 	 + $� 5 ��$�'�� � ��" 2+��$��" ��$ ��-�2��"$2�
ne = 5 × 1020 �#

−3 -���
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τL = 30
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-��# �$$�"$ � ��3$�"'� +� � !�""�#�"$ �� 0 �#�� E� �'+ 2# �$ � 0� � +��+ �� � !�""�# �"$
��$ 6 '$ �" �$'+'� "$ +�� �&-����'�"� �� + ���$'�" * �* �K 6���"'�� "$ +�� -��'$'�"� 	 J '$����� 	
�$  ��2+2� $'�"� �

r(τ)
	
β(τ)

	
β̇(τ)

� �� + �2+��$��" "2���� '��� � A�� E� "$'$2� 	  '"�' E�� +�
� !�""�#�"$ �� 0 �#�� 2# '� 	 ��"$ ��)2#  $'E��#�"$ ��-�2��"$2�� ��� + 
D��� * �. �
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��

O ��"� # "'7�� D2"2� +� 	 -��� �"� $� 5 ��$�'�� 2+��$��"'E�� E��+��"E�� 	 + ��&-����'�" ��
�) #- 2+��$��#  D"2$'E�� 2# '� - � �" 2+��$��" �� J '$���� "��#  +'�2� ~β �$ � � ��2+2� $'�"
~̇β
	 ���� - � �" �3���J $��� -+ �2 1 �"� �'�$ "�� N � "� �"� �'���$'�"

~n
	 ��$ ��""2� - � I

~E =
e

4πε0















~n− ~β

γ2(1 − ~β.~n)3R2
+
~n ∧

[

(~n− ~β) ∧ ~̇β
]

cR(1 − ~β.~n)
3















ret

�* ��B�
�$

~B =







~n ∧ ~E

c







ret

�* ��G�
��

R
��$ + �'�$ "�� �"$�� + - �$'��+� �$ + ��3���J $��� �

��$�"� E�� ��� 6��#�+�� ��"$ �&-�'# 2��  � $�#-� ��$ ��2 	 '"�'E�2 - � + �'"�'��
ret
	

E�' $'�"$ ��#-$� �� 6 '$ E�� +� �) #- ����  � $�#-�
t
- � + ��3���J $���  2$2 -����'$ 1

�" $�#-�  "$2�'��� 	 �'$ ��$ ��2 	 - � + �2+��$��" � 0� ��$ �� ������-�"�  � $�#-� # '� - � + 
+�# '7�� -��� - �����'� + �'�$ "��

R
E�' �2- �� + �2+��$��" �� + ��3���J $��� � �+ ��$ 2D + 1

t−R/c
�

O��& $��# ��  -- � '���"$ � "� + ��&-����'�" * ��B I +� -��# '�� 	 E�' �2- �"� ��
1/R2 	 ��$ --�+2 $��# � �� ��"J��$'�" ~Econv

	 �$ +� ����"� 	 E�' �2- �"� ��
1/R

	 ��$  --�+2 +� $��# �
�� � !�""�#�"$ ~Eray � A�� 6��#�+�� '"�'E��"$ E�� $��$�� +�� � � �$2�'�$'E��� �� � !�""�,
# �"$ ��"$ �"$'7��# �"$ �2$��# '"2�� - � +� # ��J�#�"$ �� + - �$'��+� �$ - � + �'���$'�"
� ��3���J $'�" � 4" ��"�$ $� - �  '++���� E�� +�� '�"� "� � !�""�"$ E�� $�7� - �� � L" � �$ 	
+��  #-+'$���� �� �) #-� � !�""2� ��"$ �'���$�# �"$ +'2��  �& J'$����� �$  ��2+2� $'�"� ���
'�"� 	 �$ 	 �� 6 '$ E�� +��� #  ��� ��$

104 6�'� - +�� D� "�� E�� ��++� ��� 2+��$��"� 	 +�� '�"� �"$
��� J'$����� 6 '3 +�� �$ ��"$ - ��  ��2+2�2� � �+� 2# �$$�"$ - � ��"�2E��"$ �" � !�""�#�"$ ��
0 �# �� "2D+'D� 3+� �

O "� +�� ���$'�"� ��'J "$�� 	 "��� � � �$2�'��"� +� � !�""�#�"$ 2# '� - � �" 2+��$��"
���'++ "$ � "� �" + ��� �" $��# �� �� -�'�� "�� � !�""2� 	 �� �'�$�'3�$'�" �- $' +� 	 �$ ��
�'�$�'3�$'�" �- ��$� +� � �-�7�  J�'� ��""2 +�� 6��#�+�� D2"2� +��  ����'2�� 1 ��� �' 2��"$��
E� "$'$2� 	 "��� +��  --+'E��"� -��� � +��+�� +� � !�""�#�"$ 2# '� - � �" 2+��$��" +'3�� �$
- � �" 2+��$��" � "� �" -+ �#  � ���� �'���$�"�  ���' +�� '"!��"��� ��� - � #7$��� ��
+ ��� �-�+ �'� $'�" 	 '"$�"�'$2� �$ �� -+ �#  �
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� /M
� 	� ����

�*�
	 � � ���	
�
 �)�
�

O "� ��$$� ���$'�" "��� � +��+�"� +�� � � �$2�'�$'E��� �� � !�""�#�"$ �� 0 �#�� 2# '�
- � �" 2+��$��" +'3�� ���'++ "$ � "� �" �) #- + ��� '"$�"�� � 0�� �&-����'�"� E�� "���
 ++�"� �3$�"'� � "� ��$$� ���$'�" ����"$  ���' �$'+'�2�� � "� + ���$'�" * �G -��� � +��+�� +�
� !�""�#�"$ 2# '� - � �" 2+��$��" ��3'�� "$ + 6���� �� � --�+ ��� '�"� �
� j� j� A{qrrmn�< lm�pnn�<

0 -�'�� "�� $�$ +� E�� + �2+��$��" � !�""� �� � +��+� �" '"$2D� "$ +� !�& �� J��$���
�� F�!"$'"D 2# '� 1 $� J��� �"� �-)7�� �� ���6 ��

S
�$ �� � !�"

R → ∞ ��"$�2� ���
x = y = z = 0

���'D'"� �� ��- 7�� �� + 3�� $�'��� � 4" �3$'�"$  '"�' + -�'�� "�� � !�""2�
� "� $��$ + ���- �� I

P =
∫

S
|~S|R2dΩ

=
∫

S

1

µ0

(| ~E ∧ ~B|)R2dΩ

=
∫

S

1

µ0

(|( ~Eray + ~Econv)) ∧ (~n ∧ (( ~Eray + ~Econv)|)R2dΩ

��
dΩ

��$ + ��"'$2 � � "D+� ��+'�� �$ +�� �) #-� ~E �$ ~B �"$ 2$2 ��#-+ �2� - � +�� �&-����'�"�
��� 6��#�+�� * ��B �$ * ��G �

H��� +�� $��# �� �� �2J�+�--�#�"$ 6 '� "$  -- � �$��
Econv

�"$ �"� �2-�"� "�� �" 1
R2�$ $�"��"$ J���

0
+���E��

R → ∞ � "� + �'"$2D� +� � 0� $��# � �� ��"J��$'�" " ���$ ��"� - �
�"� ������ �� � !�""�#�"$ #���� 3+� � "� "�$�� � � � ���+ +� $��# � �� � !�""�#�"$ ��� 
-�'� �" ��#-$� ���2" J "$ � L" ��"�2E��"�� 	 + �'"$2D� +� ��J '�"$ I

P =
1

µ0

∫

S
| ~Eray|2R2dΩ

�+ ��$ -+�� 6 �'+� �� - �+�� �" $��# � �� -�'�� "�� � !�""2� - � �"'$2 � � "D+� ��+'�� I

dP

dΩ
=

1

µ0

R2| ~Eray|2

=
e2

16π2ε0c3

{

~n ∧ (~n ∧ ~̇β)
}2

A�$$� 6��#�+� ��"" "$ + -�'�� "�� � !�""2� '"�$ "$ "2� - � �"'$2 � � "D+� ��+'�� ��$
 --�+2� + 6��#�+� �� 0 �#�� "�" ��+ $'J '�$� 
/8� � �"� D2"2� +'� $'�" �� + 6��#�+� ��
0 �# �� 	 � � --+'E� "$  � � � � ��" 2+��$��" ��+ $'J '�$� 	 � ��3$'�"$ �" $���J "$ �"� 6��# � ��



/( ���� � �
� � � �� ��
������ ����
 ������
��

+ -�'�� "�� � !�""2� 	 '"$2D�2� ��� +��  "D+�� ��+'��� 	 E�' ��'$ '"J �' "$� - � $� "�6��#  $'�"
�� 0���"$� 	 �$ E�' $�"�� J��� + ��&-����'�" "�" ��+ $'J '�$� +���E��

β → 0

/8� �

0� �2��+$ $ ��$ I

P =
e2

6πε0m2c3







(

d~p

dt

)2

− 1

c2

(

dE

dt

)2






L" �$'+'� "$ �"��'$� +�� 2E� $'�"� * �/ �$ * �K ��"" "$ + J �' $'�" �� + �'#-�+�'�" �$ ��
+ �2"��D'� �� + �2+��$��" 	 �" �3$'�"$ '##2�' $�# �"$ + ��&-����'�" -� $'E�� �� + -�'�� "��
'"�$ "$ "2� 	 �'���$�# �"$ +'2�  �& �) #-� ~E

�$ ~B
�� + ��"�� 2+��$��#  D"2$'E�� �� + ���

- � I

P =
e4

6πε0m2c3
γ2
{

(

~E + ~β ∧ ~B
)2 −

(

~β. ~E
)2
}

.
�* ��M�

� - �$'� �� ��$$� 6��#�+� 	 �'$� �� 0 �#�� ��+ $'J '�$� 	 +�� -�'�� "��� � !�""2�� - � �"
2+��$��" ���# '�  � �) #- + ��� �� � +��+�"$  " +!$'E��#�"$ -��� �" 2+��$��" +'3�� �"
��#-+ � "$ +�� �) #-� ~E �$ ~B - � ���& ������-�"� "$  �& �&-����'�"� * ���
�;= � 	�
: �
�: <;=:� � �<;��=?: <�
?;��:� :
�

O "� +� � � �� + ��"�� + ��� ��$ -�+ �'�2� +'"2 '��# �"$ 	 �" �3$'�"$ I

~E + ~β ∧ ~B =
ω

c
(
mc2

e
)

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

py
γ
a0 cos(ψ)

a0 cos(ψ) − px
γ
a0 cos(ψ)

0�$
~β. ~E =

ω

c
(
mc2

e
)
py
γ
a0 cos(ψ)

L" ��#-+ � "$ ��� ���& �&-����'�"� � "� + 6��#�+� �� 0 �#�� ��+ $'J '�$� * ��M 	 + 
-�'�� "�� '"�$ "$ "2� � �2��'$ I

P [W ] =
e2ω2

6πε0c
γ2
{

a2
0 cos2(ψ)(1 − px

c
)2
}

=
e2ω2

6πε0c
a2

0 cos2(ψ)

0 -�'�� "�� � !�""2� '"�$ "$ "2� ��$ ��-�2��"$2� �" 6�"�$'�" �� $�#-� � "� +� �262,
��"$'�+ �� + 3�� $�'�� ��� + 
D��� * ��8 -���

a0 = 1
�$
a0 = 5

� 0 ���2� �� + �'#-�+�'�"
+ ��� ��$ 2D +� 1 /8 6� 1 # ',) �$��� � 0 -�'�� "�� '"�$ "$ "2� ���'++�  � ���3+� �� + 6�2,
E��"�� �� + ��� � � �++� ��$ �'���$�# �"$ +'2� 1 + $� 5 ��$�'�� �� + �2+��$��" � L" � �$ ��##�
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��� � * ��8 � �� 
		���� ���
�� �� 
�	������ �� � 
�� a0 = 1.
� ��� �� � ��

a0 = 5.
�� ����� ��

� 

�� ��	

� ��	 �� �	� ��� �� � �� � 	 � � 
	��� ���� �
"��� + � J�"� J� � "� + ���$'�" * �* �B 	 + �2+��$��" ��$  � ��-�� ���& 6�'� - � - 2�'��� + ��� �
+� � !�""�# �"$ E� �'+ 2# �$ ��$ ��"� "�+ 1 ��� '"�$ "$� �

� � �	� 
�� 
����� �� ��� ���� �� �� � � 
������
� � 
�� �� �� ���
�� �� ��� �� ���� 
� �� ��
�	�� 

� �	� 	
�� 
	 �� ����� ��	 �� � �� ��	 ��

� �� 
��� �� ��	 ��� � 
������
� � � ���
�� � � ��	��� �� � �
��		�	 ���
��
� � �
�� � �
�	 � 
��
�	 ��� � � ���

�� �� ���
 ������ 
� � �� ����� ��
� 

�� ��	

� �� ���
�� �� ��� �� ���� 
� �

�
" � ���$'# �� + -�'�� "�� $�$ +� 2# '�� �$ �3$�"'� �"� �&-����'�"  " +!$'E�� - ��# �$,
$ "$ �� � +��+�� �'#-+�# �"$ +� "�#3�� �� -)�$�"� -����'$� - �"� "$ + �'"$�� �$'�" 	 �" -��$
6 '�� + #�!�""� �� + -�'�� "�� '"�$ "$ "2� ��� �"� -2�'��� + ���

T
I

PT [W ] =
1

T

∫ T

0
Pdt

=
1

T

e2ω2

6πε0c
a2

0

∫ T

0
cos2(ψ)dt

L" �$'+'� "$ +� �) "D�# �"$ �� J �' 3+�
ψ = ωτ

	
dt = γ

ω
dτ = 1

ω
(1 + a0

2 sin2(ψ)
2

)dψ
	 ��

τ��$ +� $�#-� -��-�� 	 + �2E� $'�" ��J'�"$ I

PT [W ] =
1

T

e2ω2

6πε0c
a2

0

∫ 2π

0
cos2(ψ)

(

1 +
a2

0 sin2(ψ)

2

)

dψ



K8 ���� � �
� � � �� ��
������ ����
 ������
��

=
1

T

e2ω2

6πε0c
a2

0







[

1

2
ψ − 1

4
sin(2ψ)

]2π

0
+

[

a2
0

16
(ψ − 1

4
sin(4ψ))

]2π

0







=
e2ω2

6πε0c
a2

0

(

a2
0 + 8

a2
0 + 4

)

= 7.3 × 10−8a2
0

(

a2
0 + 8

a2
0 + 4

) �* ��(�
A�$$� �&-����'�"  " +!$'E�� ��""� + -�'�� "�� � !�""2� - � �" 2+��$��" ��� �"� -2,

�'��� + ��� �" 6�"�$'�" �� ���+ - � #7$��
a0

�
�;= � 	�
: �
�: <;=:� � �<;��=?: ����� <;��:� :
�

�" � +��+ 2E�'J +�"$ 1 ��+�' �� + ���$'�" -�2�2��"$� - ��$ �$�� � ��$�2 � "� +� � �
� ��"� �"�� + ��� -�+ �'�2� �'���+ '��# �"$ �" �$'+'� "$ +�� �) #-� ~E �$ ~B ��""2� - � +��
�&-����'�"� * ��� 0�� ���& $��# �� '"$��J�" "$ � "� + ��&-����'�" �� + -�'�� "�� '"�$ "$ "2�
� �2��'J�"$ I

~E + ~β ∧ ~B =
ω

c
(
mc2

e
)

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

a0

γ
√

2
(py sin(ψ) − pz cos(ψ))

a0√
2

(

sin(ψ) − px
γ

sin(ψ)

)

a0√
2

(

cos(ψ) − px
γ

cos(ψ)

)

�$

~E.~β =
ω

c
(
mc2

e
)
a0

γ
√

2
(py sin(ψ) − pz cos(ψ))

O � -�7� * ��M 	 + -�'�� "�� J �$  +��� I

P =
e2ω2

12πε0c
γ2a2

0

(

1 − px
γ

)2

L" '"$2D� "$ ��� �"� -2�'��� + ��� 	 '+ J '�"$ I

PT =
1

T

∫ T

0
Pdt

=
e2ω2

12πε0c
a2

0

-�'� 	 �" 6 '� "$ +� �) "D�#�"$ �� J �' 3+�
ψ = ωτ

	
dt = γ

ω
dτ = 1

ω
(1 + a0

2

2
)dψ

��
τ

��$
+� $�#-� -��-�� I

PT

� �

= 3.6 × 10−8a2
0

�* ��.�
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		�� �� ���
�� �� 
�	������ �� � 
�� a0 = 1.
� ��� �� � ��

a0 = 5.
� ��

��� ������� �� � 

�� ��	

� ��	 �� � � 
	��� ���� �	� ��� �� � �� � 	 �

0 -�'�� "�� � !�""2� '"�$ "$ "2� ��$ ��-�2��"$2� ��� + 
D��� * ��� �" 6�"�$'�" ��
$�#-� -��� ���& J +���� ��

a0
�

A�"$� '��# �"$  � � � �� + -�+ �'� $'�" +'"2 '�� 	 + -�'�� "�� � !�""2� " ����'++� - � 	
�++� ��'$ + 6��# � �� + ��"J�+�--� $�#-���++� �� + �'#-�+�'�" + ��� � L" � �$ 	 ��##� "���
+ � J�"� #�"$�2 � "� + ���$'�" * �* ��"���" "$ +�� $� 5 ��$�'��� 2+��$��"'E��� 	 + � #-+'$���
�� + �'#-�+�'�" +�"D'$��'" +� �� + �2+��$��" ��'$ + 6��# � $�#-���++� �� + ��"J�+�--� �� + �'#,
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∣
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∣
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)/$'#'%& &$ 0$ )�$& !& -05 #83& !(Y$# 4+3 -&' +$,-&' \

ϕ = 4/a2
0

&%
θ = 2

√
2/a0.

	IK G SRJE PJGE HIKEO U PHIOLKME HLJMILOET EJF

V05 (3#:0&5 &$% < -+ !#'%3#?0%#/$ '4+%#+-& !0 3+�/$$&5 &$% !& 9+35 /3 ' "/?%#&$% &$ 3&5 6
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�'# '"�� 5 ��E� �1 ��J�"'� "2D+'D� 3+� � 0� � !�""�#�"$ ��J'�"$ ��++'#  $2 �$ 6��# � �" ��"�
�'�'D2 J��� + � J "$ �

0 
D��� * ��G ��-�2��"$� �"� ���-� *O �� + � #-+'$��� �� J��$��� �� F�!"$'"D �"
6�"�$'�" �� + � "D+�

θ
�
θ = 0

��+�" + �'���$'�" �� -��- D $'�" �� + ���� � 0 �'J��D�"�� ��$
� +��+2� � "� +� -+ " )��'��"$ + 	 �&! � # '� �++� ��$ '��"$'E�� -��� $��� +�� -+ "� ��"$�" "$
+ � &� �� -��- D $'�" �� + ��� � 0 � #-+'$��� " � 2$2 ��-�2��"$2� E�� � "� �" ��# ' -+ "
θ > 0

� � �++� ��$ '��"$'E�� -��� +��  "D+��
θ < 0

�
F��� +�� D� "��� J +���� ��

a0
	 + �'�$�'3�$'�" ��$ + # �#� E�� -��� +� � � �� + 

-�+ �'� $'�" +'"2 '�� � L ++� ��$ -'E�2� ��� �"  "D+� E�' ��$ � � �$ "$ -+�� - �$'$ E��
a0

��$
D� "� �$ � � �$�� - �$ � + �D��� �'# '"�� +���E��

a0
 �D#�"$� �

4" -��$ 2D +�# �"$ �3���J�� +�� ���& ���� +�3 ��  -- � '�� "$ +���E��
a0

�'# '"�� �



K( ���� � �
� � � �� ��
������ ����
 ������
��

� j� j� 4qrzlq	{zqpn r� <�zlm=<
0 �'�$�'3�$'�" �- ��$� +� �� � !�""�#�"$ �� 0 �# �� 2# '� � "� �"� �'���$'�"

~n
��$

�3$�"�� �" -��" "$ + $� "�6��# 2� �� C���'�� �� J��$��� �� F�!"$'"D �� + ��"�� 2+��$��,
#  D"2$'E�� -����'$� - � + �2+��$��" � "� ��$$� �'���$'�" � 0 -�'�� "�� 2# '�� - � �"'$2
� � "D+� ��+'�� �" 6�"�$'�" �� $�#-� -��$ � �2��'�� I

dP (t)

dΩ
= |A(t)|2

��
A(t) =

(

1

µ0c

)1/2

REray

0 �'"$�"�'$2 � !�""2� - � �"'$2 � � "D+� ��+'�� �$ �"'$2 �� 6�2E��"�� �" ��$ �2��'$� �$ J �$ I
d2I

dωdΩ
= 2| ~A(ω)|2 �* �* ��

�� ~A(ω)
��$ + $� "�6��# 2� �� C���'�� ��

A(t)
E�' � �2��'$ I

~A(t) =

(

e2

16π2ε0c

)
1

2





~n× (~n− ~β) × ~̇β

(1 − ~β.~n)3





ret

�* �**�
0 $� "�6��# 2� �� C���'�� ~A(ω)

�� ~A(t)
� �2��'$  +��� I

~A(ω) =

(

e2

32π3ε0c

)
1

2
∫ +∞

−∞

eiωt









~n×
[

(~n− ~β) × ~̇β
]

(1 − ~β.~n)3









ret

dt
�* �*/�

�+ 6 �$ �"��'$� ��#-+ ��� � "� ��$$� �&-����'�" +�� J��$���� ~̇β �$ ~β �3$�"�� � "� + 
���$'�" * �* �K � A�++�,�' 2$ "$ 2J +�2�  � $�#-� ��$ ��2 	 '+ ��$ ��##��� �� 6 '�� +� �) ",
D�# �"$ �� J �' 3+�

τ = t − ~n.~r
-��� +�� �2��+�$'�"� "�#2�'E��� � 0� � +��+ "�#2�'E�� ��

+ $� "�6��# 2� �� C���'�� - ��# �$  +��� � ��3$�"'� + J +��� �� + �'"$�"�'$2 ��""2� - � + 
��+ $'�" * �* ��

0�� �- ��$��� �3$�"�� +���E�� +� + ��� ��$ -�+ �'�2 +'"2 '��# �"$ ��"$ ��-�2��"$2� ��� + 

D��� * ��M � "� +�� � � ��

a0
� B �$

a0
� �8 � F��� +�� # �#�� J +���� �� - � # 7$��

a0
	 +��

�- ��$��� �3$�"�� +���E�� +� + ��� ��$ -�+ �'�2 �'���+ '��# �"$ ��"$ ��-�2��"$2� ��� + 
D���
* ��( � F��� �) E�� J +��� ��

a0
+� �- ��$��  2$2 2J +�2 1 + � "D+� -��� +�E��+ + �'"$�"�'$2

�� � !�""�#�"$ % ��$ #  & '#  +� �
D��� * ��K 	* ��G� � ��� + 
D��� * ��M 	 �" ��"�$ $� E�� +�
�- ��$�� ��$ + �D� �$ -'E�2 � �+ � �2$�"� �� E��+E��� �� 1 �"J'��" K88 �� +���E��

a0 =
B 	 �$

5 ��E� �1 �"J '��" / ��� +���E��
a0
� �8 � 0 -��'$'�" �� -'� �� �2� +� J��� +�� ) �$�� 2"��D'��
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B8 ���� � �
� � � �� ��
������ ����
 ������
��

+���E��
a0

 �D#�"$� � 0� -'� ��$ �'$�2 J��� �B8 �� +���E��
a0 = 5

�$ J��� ��B ��� +���E��
a0 =

�8 �

� j� j� 4{l�< ;{ lm�pnn<y<nz ;< �mlypl
����  J�"� J� � "� + ���$'�" * �/ �* E� ��" 2+��$��" " �2# �$ �� � !�""�#�"$ �� 0 �#��

E�� +���E� �'+ ���'++� � "� + ��"�� + ��� I �" ��"�2E��"�� 	 + ���2� �� �� � !�""�# �"$ ��$ ��
# �#� ����� �� D� "���� E�� ��++� �� + ��� 	 � ���$ 1 �'�� 6�#$�����"�� � "� +� ��"$�&$� "���
'"$2���� "$ � ��+�" + �'���$'�" +�"D'$��'" +� 	 �$ '"�2- �"� ##�"$ �� + +�"D���� � �'"$��,
 �$'�" 	 +� � !�""�# �"$ % �� -��- D�  J�� +� + ��� �$  ��"� + # �#� ���2� � ���� �� + � &�
�� -��- D $'�" �� + ��� 	 + ���2� ��$ # ��'
2� �� 6 '$ ��� $�#-� �� - ������ �' 2��"$� ��
� !�""�#�"$ 2# '�  � �' 2��"$� '"�$ "$� �� + $� 5 ��$�'�� �

A�-�"� "$ 	 ���$ '"� � �$� ��"$ �����-$'3 +�� �� #��'
�� ��$$� ���2� I
� 0 ���2� �� + �'#-�+�'�" �� � !�""�#�"$ �2- �"� �� + � "D+� � ��3���J $'�" �

0 �2+��$��" 2#�$ �� � !�""�# �"$ ��� "$ $��$ +� $�#-� E� �'+ - ��� � "� + �'#-�+�'�" + ,
��� � 0� $�#-� �� - ������ ��� -)�$�"� -����'$�  �& �' 2��"$� '"�$ "$� -���  $$�'"���
+� �2$��$��� �2- �"� �� + � "D+� � ��3���J $'�"

θ
� 0 
D��� * ��. '++��$�� ��)2#  $'E��,

# �"$ ��+ � 0 �2+ �D'���# �"$ $�#-���+
∆t

�� � !�""�# �"$ 2# '�  -�7� �"� +�"D����
- ������� 0/ ��$ 2D + 1

∆t = L1 × (1 − cos(θ))/c

� L" -��" "$
L1 = 500µm

 J�� �"  "D+� �� KB
◦
�" $���J�

∆t ∼ 5
6� � A�$$� � ���

� �2+ �D'���# �"$ $�#-���+ ��$ ��"� -�� '#-��$ "$� � 0 ���2� �� + �'#-�+�'�" �� � !�",
"�# �"$ ��� � � �$ "$ -+�� 3�7J� E�� + � "D+�

θ
��� - �$'$ �

� 0 �' 2��"�� ��� J'$����� �� -��- D $'�"� �� + ��� �$ �� � !�""�#�"$ �� 0 �#��
-��$  �D# �"$�� + ���2� �
L" � �$ 	 � "� +� -+ �#  	 + J '$���� �� D���-� � ��"� �"�� 2+��$��#  D"2$'E�� �2- �"�
�� � +�"D���� � ��"�� � L ++� J �$ I

vg = c(1 − ne/nc)
1/2

��
nc

��$ + ��"�'$2 ��'$'E�� �2
"'� - �
nc[cm−3] = 1.11×1021λ−2

[µm]

� J��
λ

+ +�"D����
� ��"�� �� + ���� � L" -��" "$ ��##� ��"�'$2 �� -+ �#  

ne = 5. × 1018 �#
−3 	 �$ �"

��"�'�2� "$ E�� + �2"��D'� % ��$ 2D +� 1 �88 �� 	 + �' 2��"�� ��� $�#-� �� -��- D $'�"
�� + ��� �$ �� � !�""�#�"$ % ��� �"� �'�$ "�� �� / ## J �$ I

∆t =
d

(vgL − vgX)
∼ 30

6�
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��
vgL

�$
vgX

��-�2��"$�"$ +�� J '$����� �� D���-� �� + ��"�� + ��� �$ �� � !�""�#�"$ % �
0 �' 2��"�� ��� J'$����� �� D���-� -��$ ��"� '#-+'E��� �" 2+ �D'���# �"$ $�#-���+
�� + �'#-�+�'�" % �� + ������ �� /8 6� � A�$$�  �D# �"$ $'�" "� #��'
� ��- �"� "$ - �
+� � � �$7�� 6�#$�����"�� �� + �'#-�+�'�" % �

� 0 ���2� �� � !�""�#�"$ �� 0 �#�� �2-�"�  ���' �� ��" 2"��D'� � L" � �$ 	 ��++�,�'
�2- �"� �� - � # 7$�� �� 6���� �� + ���

a0
� L" � '��" �� -��
 + $�#-���+ �� + �'#-�+�'�"

+ ��� 	 -+�� +� � !�""�# �"$ % ��$ 2"��D2$'E�� �$ -+�� � ���2� ��$ ����$� � � '+ "�
- ��$ �$�� -����'$ E� � � J�'�'" D� �� # &'#�# � �'"$�"�'$2 �� + �'#-�+�'�" + ��� � � "�
�2+��$'�" �- ��$� +� 	 + ���2� ��'$ ��- �"� "$ �$�� 2D +� 1 ��++� �� � !�""�# �"$ % 2# '�
1 + -+�� 6 '3 +� 2"��D'� �

� j� j� Ap=mlqrmzqpn
0�� �) #-� 2+��$�'E�� �$ #  D"2$'E�� 2# '� - � + �2+��$��" ��"$ ��""2� - � +�� 6��#�+��

* ��B �$ * ��G �

~E =
e

4πε0















~n ∧
[

(~n− ~β) ∧ ~̇β
]

cR(1 − ~β.~n)
3















ret
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�� ���
� B/
�+� �2- �"��"$ �� + �'���$'�" � ��3���J $'�"

~n
	 �� + J '$���� ~β �$ �� + � ��2+2� $'�" ~̇β ��

+ �2+��$��" � A��&,�' 2$ "$ +'2� 1 + �'���$'�" �� -�+ �'� $'�" �� + ��� 	 +� � !�""�# �"$ % 2# '�
- � + �2+��$��" �" �2-�"�  ���' � F + ��"� "��� - � �&�#-+� � "� +� � � �� +� + ��� ��$ -�+ �'�2
+'"2 '��# �"$ � L" � � --�! "$ ��� + 
D��� * �*8 	 �� ��"$ ��)2#  $'E��#�"$ ��-�2��"$2�� +��
�'���$'�"� �� ~β �$ �� ~̇β 	 �" -��$ �2��'�� +�� �'���$'�"� ��� �) #-� ~E �$ ~B � 4" ��"�$ $�
��� ��$$� 
D��� E�� +� �) #- 2# '� - � + �2+��$��"  + # �#� -�+ �'� $'�" E�� +� + ��� �
� �2$ "$ ��-�2��"$2 E�� -��� �"� �'���$'�" � ��3���J $'�"

~n
�$ �" -�+ �'� $'�" +'"2 '�� ��

+ ��� 	 �� �2��+$ $ ��$  ���' J + 3+� �" -�+ �'� $'�" �'���+ '�� �$ � "� $��$�� +�� �'���$'�"�
-��� +��E��++�� �� � !�""�#�"$ % ��$ -����'$ �
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�* �
� � � ������
 ��
	 �
 � ��	
 �

O "� ��$$� ���$'�" 	 +�� $� 5 ��$�'��� � +��+2�� � "� + ���$'�" * �/ �$ +�� 6��#�+�� �� 3 ��
2"�"�2�� � "� + ���$'�" -�2�2��"$� ��"$ �$'+'�2�� -��� �2$��# '"�� +�� � � �$2�'�$'E��� ��
� !�""�#�"$ �� 0 �#�� � ����  ++�"� # �"$��� +�� #��'
� $'�"� ��� � � �$2�'�$'E��� ��
� !�""�#�"$ E� �'#-+'E�� + -�'�� �" ��#-$� �� + 6���� �� � --�+ ��� '�"� � A�"$� '��# �"$
 � � � �� + �2+��$��" +'3�� 	 1 #�'"� �� �� -+ ��� � "� + �'$� $'�" �� +� -+ �#  ��$ $�7� ��"��
�∼ 5 × 1020�#−3� 	  ���"� 6��#�+�  " +!$'E�� � � �$2�'� "$ +� � !�""�# �"$ "� - ��$ �$��
�3$�"�� � ���+� ��� �2��+$ $� "�#2�'E��� ��"$ ��""2� � "� ��$$� ���$'�" �

����  J�"� J� E�� + �' 2��"�� -�'"�'- +� �"$�� + $� 5 ��$�'�� � ��" 2+��$��" ��3'�� "$
+ 6���� �� � --�+ ��� '�"� 	 �$ + $� 5 ��$�'�� � ��" 2+��$��" +'3�� 	 ��$ +� #��J�#�"$ �� �2�'J�
+�"D'$��'" + I �" $�" "$ ��#-$� �� + 6���� �� � --�+ ��� '�"� 	 �� # ��J�#�"$ �� �2�'J� ��$
� � �$ "$ -+��  $$2"�2 E�� + ��"�'$2 2+��$��"'E�� �� -+ �#  ��$ '#-��$ "$� � 0���E�� + 
��"�'$2 �� -+ �#  ��$ �� + ������ ��

1020�#−3 + $� 5 ��$�'�� ��$ ����"$'�++�# �"$ $� "�J���� �
0�� � � �$2�'�$'E��� �� � !�""�#�"$ �� 0 �# �� 2$ "$ �2- �"� "$�� �� + $� 5 ��$�'�� ��
+ �2+��$��" 	 �++�� J�"$ �$�� #��'
2�� - � + �� �$ �� + 6���� �� � --�+ ��� '�"� �� -+ �#  �

� j� j� A{qrrmn�< lm�pnn�<

0 -�'�� "�� �� � !�""�# �"$ �� 0 �# �� 2# '�� - � �" 2+��$��" �� � +��+� �� + # �#�
# "'7�� E�� � "� + ���$'�" * �B ��� 0�� 
D���� * �* � �$ * �** ��-�2��"$�"$ + -�'�� "�� 2# '��
- � �" 2+��$��" ���'++ "$ � "� +� �) #- 2+��$��#  D"2$'E�� �� + ��� +���E�� + ��"�'$2
�� -+ �#  ��$ 2D +� 1

1 × 1019�#−3 �+ -�'�� "�� 2# '�� - � �" 2+��$��" +'3�� ��$  ���'
��-�2��"$2� �� #  "'7�� 1 6 �+'+'$�� + ��#- � '��" ��� ���& � �� � 0�� � � �� +� + ��� ��$
-�+ �'�2 +'"2 '��# �"$ �$ �'���+ '��# �"$ ������-�"��"$ ���- ��$'J�# �"$  �& 
D���� * �* � �$
* �** �

L" �$'+'� "$ + �����'-$'�" �� + $� 5 ��$�'�� � ��" 2+��$��" E�� "���  J�"� 6 '$� � "�
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��$ -���)� �� ��++� � ��" 2+��$��" +'3�� � ���� -��J�"� ��"�$ $�� E�� + -�'�� "�� �� � !�",
"�# �"$ E� �'+ 2# �$ �" 6�"�$'�" �� $�#-� ��$  +��� -���)� �� ��++� 2# '�� - � �" 2+��$��"
+'3�� � L"��'$� 	 +���E�� +� #��J�# �"$ �� �2�'J� ��$ �2��'$ - � + 6���� �� � --�+ ��� '�"� 	
�$ �" - �$'��+'�� ��� +� 6��"$ �����"� "$ �� + �'#-�+�'�" + ��� 	 + J '$���� �� + �2+��$��" � "�
+ �'���$'�" �� -��- D $'�" �� + ��� �'# '"�� � �+ J�'$  +��� -+�� �� - 2�'���� + ��� ��� "$ �"
$�#-� -+�� ����$ � A��' $� ��'$ - � +� 6 '$ E�� + - 2�'��� �"$�� +�� #  &'#  �� + -�'�� "��
'"�$ "$ "2� �'# '"�� � O � �$�� - �$ 	 �" ��#  �E�� ��� ��� ���& 
D���� E�� +�� #  &'#  ��
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� !�""�#�"$ 2# '� ��"$ -+�� '# -��$ "$� E�� � "� +� � � �� + �2+��$��" +'3�� � 0 
D��� * �*/
'++��$�� +� � � �&$��#� �� + ��"�'$2 �� -+ �#  ��$ $�++�# �"$ '#-��$ "$� E�� + �2+��$��" " � 
- � �� #��J�# �"$ �� �2�'J� � O "� +� � � ��-�2��"$2 	 + -�+ �'� $'�" �� + ��� ��$ +'"2 '��
�$ + �2+��$��" �2��'$ �"� $� 5 ��$�'�� $� "�J���� �" 6��# � �� ( � O "� �� � � 	 �" ��"�$ $�
E�� + �2+��$��" " ����'++� � "� +� �) #- 2+��$��#  D"2$'E�� �� + ��� E�� - �"� "$ +� ���2� ��
+ �'#-�+�'�" + ��� 	 �$ " �2# �$ �� � !�""�#�"$ E�� -�"� "$ ��$$� ���2� �

L" ��"�+��'�" 	 �" � '��" �� #��J�#�"$ �� �2�'J� E�' ��$  $$2"�2 +���E�� + 6���� ��
� --�+ ��$ '�"� ��$ -�'�� �" ��#-$� 	 -+�� + ��"�'$2 �� -+ �#  ��$ '#-��$ "$� �$ -+�� +�
$�#-� � ����'++ $'�" �� + �2+��$��" � "� + ��"�� + ��� ��$ 6 '3 +� � L" ��J "�)� 	 +��  ��2+2� $'�"�
E� �'+ ��3'$ ��"$ -+�� D� "��� �$ +�� #  &'#  �� + -�'�� "�� '"�$ "$ "2� ��"$ -+�� '# -��,
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a0 = 5
	 �++� ��$ * 	/ 6�'� -+�� '# -��$ "$� � "� +� � � �� +� + ��� ��$
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+'3�� 	 ��##� '+  2$2 �'$ � "� + ���$'�" * �/ �/ 	 +� 6 '$ E�� + $� 5 ��$�'�� �� + �2+��$��"
��'$ ����"$'�++�# �"$ +�"D'$��'" +� '#-+'E�� E�� +� � !�""�#�"$ E� �'+ 2# �$ ��$ �'�'D2 J���
+ � J "$ � O "� +� � � -�2��"$ 	 +� #��J�#�"$ �� �2�'J� ��$ 6��$�# �"$  $$2"�2 - � + 6����
�� � --�+ ��� '�"� �$ + $� 5 ��$�'�� ��$ $� "�J���� �" *O � "� + �'���$'�" �� -�+ �'� $'�"
�� + ��� � 0� � !�""�# �"$ E�' ��'$ +� # �#� ��#-��$�# �"$ ��$ �'�'D2 ��"� # &'#�# � "�
��$$� �'���$'�" � 0���E�� +� + ��� ��$ -�+ �'�2 �'���+ '��# �"$ 	 + �'�$�'3�$'�" �- $' +� /O ��
� !�""�#�"$ 2# '� - � +�� 2+��$��"� �" -�2��"�� � �'�"� ��$ ��-�2��"$2� ��� + - �$'� ���'$�
�� + 
D��� * �*K � 0� � !�""�# �"$ ��$ #  &'#  + � "� +� -+ " -��- �"�'��+ '�� 1 + �'���$'�"
�� -��- D $'�" �� + ��� � L" � �$ 	 + $� 5 ��$�'�� �� + �2+��$��" 2$ "$ �" ����+� ��"$�2 ���
+ �'���$'�" �� -��- D $'�" �� + ��� �$ - ��- �"�'��+ '�� 1 ��++�,�' 	 + �'�$�'3�$'�" �- $' +�
E�'  �#�$ +�� # �#�� �!#2$�'�� E�� + $� 5 ��$�'�� ��$ ��"� $� "�J���� �$ �!# 2$�'E�� ��
�2J�+�$'�" - � � --��$ 1 + � &� �� -��- D $'�" �� + ��� �

L" ��"�+��'�" 	 + -�'�� �" ��#-$� �� + 6���� �� � --�+ ��� '�"� # ��'
� "�$ 3+�# �"$ + 
�'�$�'3�$'�"  "D�+ '�� �� � !�""�#�"$ �� 0 �#�� � F +�� + ��"�'$2 2+��$��"'E�� ��$ 6 '3+� 	
-+�� + $� 5 ��$�'�� ��$ +�"D'$��'" +� 	 �$ -+�� +� � !�""�#�"$ ��$ ��++'#  $2 � "� + �'���$'�"
�� -��- D $'�" �� + ��� �
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����  J�"� # �"$�2 � "� +�� ���$'�"� -�2�2��"$�� E� ��"� '#-�+�'�" �� � !�""�#�"$ %
-�+!�)��# $'E�� �$ 6�#$�����"�� 	 � "� �" ��#  '"� �- ��$� + �'$�2  �$��� �� ��� 	 -��J '$
�$�� -����'$� - � +� -�������� �� � !�""�#�"$ �� 0 �#�� +��� �� + �'"$�� �$'�" �"$�� �" + ���
�+$� ,'"$�"�� �$ �" 2+��$��" � O "� ��$$� ���$'�" 	 "���  --+'E��"� +�� �2��+$ $� �3$�"�� � "�
+�� ���$'�"� -�2�2��"$�� -��� � +��+�� +�� � � �$2�'�$'E��� �� ���& ������� �� � !�""�# �"$
% 3 �2�� ��� +� � !�""�#�"$ �� 0 �# �� � ���� -�2��"$�"� � "� +�� ���& ���$'�"� ��'J "$��
+�� ���& $!-�� �� ������� % 2$��'2��  � ����� �� �� $� J '+ �� $)7�� I + ������ % �0 �#�� �
�$ + ������ % �H)�# ��" �� � '�" E�� + ���'D'"� �� � !�""�#�"$ ��'$ '��"$'E�� -��� +�� ���&
������� % 	 "��� J����"� E�� +� ��# '"� � �2"��D'�� % " ���$ - �  $$�'"$ �� + # �#� # "'7��
� "� +�� ���& � � �

O "� +� � � �� + ������ % �0 �#�� �	 +� � !�""�#�"$ % ��$ �
  � #��J�#�"$ 6��$�# �"$
"�" +'"2 '�� ��� 2+��$��"� 	 '" '$' +�# �"$  � ��-�� � "� �" -+ �#  	  ��2+2�2� � "� +� �) #-
2+��$��#  D"2$'E�� � ��" + ��� 6�#$�����"�� �+$� ,'"$�"�� �� ∼ 1019� ��# 2� �O  "� +� � � �� + ������ % �H)�# ��" �	 +� � !�""�#�"$ % ��$ 2# '� +��� �� + �'"$�� �$'�"
�"$�� �" + ��� 6�#$�����"�� '"$�"�� �� ∼ 1017� ��# 2� �$ �" - E��$ � �2+��$��"� ��+ $'J '�$�� 	
-�2 + 3+�# �"$ -����'$ � "� �" -+ �#  � 0�� 2+��$��"� ��+ $'J '�$�� ���'++ "$� � "� + �'#-�+,
�'�" + ��� 2# �$$�"$ �" � !�""�# �"$ 6��$�# �"$ �2� +2 � "� +� ��#  '"� � �2"��D'� % - �
� �$ O�--+�� ��+ $'J '�$� �

A�� ���& ������� ��"$ �"��'$� ��#- �2��  �& ������� �� � !�""�#�"$ % �� �2"��D'� ��
+ ������ � "� +� ��#  '"� �� ��� � �& '�$ "$�� �� 6�$���� 	 �" $��# �� �� !�& �$ �� 3�'++ "�� �
0� !�&

F
��$ +� "�#3�� �� -)�$�"� 2# '� - � ����"�� � 0 3�'++ "��

B
��$ 2D +�  � !�&

�'J'�2 - � + ���6 �� �� + ������
A

�$ - � + � "D+� ��+'�� � �2# '��'�"
Ω
� L"
" + 3�'++ "��

�- ��$� +�
B∆ω/ω

��$ + 3�'++ "�� 2J +�2� � "� �"� 3 "�� �- ��$� +�
∆ω

��""2� � A�� $��'�
E� "$'$2� ��"$ ���- ��$'J�# �"$ �2
"'�� - � I

F =
P

h̄ω

-)�$�"������"�� �* �*B�

B =
P

A× Ω

-)�$�"������"���## 2�#� �2 �* �*G�

B∆ω/ω =
P

A× Ω × ∆ω/ω

-)�$�"������"���## 2�#� �2�8 ���� �* �*M�



G8 ���� � �
� � � �� ��
������ ����
 ������
��

� j� j� �p{l�� � �mlypl
0�� � � �$2�'�$'E��� E� +'$ $'J�� �� � !�""�#�"$ �� 0 �#�� �"$ 6 '$ + ��35 �$ ��� �' 2,

��"$�� ���$'�"� �� �) -'$�� * �
���# '� 1 �" + ��� ��"$ + �'"$�"�'$2 ���$� �2- ���

1019 � ��# 2  � 04� 	 �" 2+��$��"  
�" #��J�#�"$ 6��$�# �"$ "�" +'"2 '�� � 0� � !�""�# �"$ �� 0 �#�� E� �'+ 2# �$  +��� - ��$
�$�� -'E�2 � "� +� ��# '"� �- ��$� + �� ��� �$  J�'� �" !�& '#-��$ "$ �
�
���:= �: ��;
�:��=
0 -�'�� "�� $�$ +� �� � !�""�#�"$ �� 0 �# �� 2# '�� - � + ��"��#3+� ��� 2+��$��"�

� ��" J�+�# � 6�� + � ��3$'�"$ �" #�+$'- +' "$ + -�'�� "�� E� �'+ 2# �$ ��� �"� -2�'��� + ���
���""2� - � + ��&-����'�" * ��( �� * ��.� - � +� "�#3�� �� - 2�'���� E�� ��"$'�"$ + �'#-�+�'�"
�$ - � +� J�+�#� 6�� + �

F��� +�� ��"�'$'�"� + ��� �2��'$�� � "� +� $ 3+� � K �� 	 + -�'�� "�� $�$ +�
PT

2# '�� � "�
+� J�+�# � 6�� + J �$ I

PT [W ] = 2.7 × 107 � �* �*(�
��

w0
��$ +� � !�" �� + ���  � 6�!�� 	

ZR
+ +�"D���� �� N !+�'D) �

0� "�#3�� �� -)�$�"� - � '#-�+�'�" � ��3$'�"$ �" �'J '� "$ + -�'�� "�� $�$ +� - �
+ �2"��D'� ��� -)�$�"� 2# '� � L" ��--�� "$ E�� $��� +�� -)�$�"� ��"$ 2# '� 1 + �2"��D'� ���,
���-�"� "$  � -'� �� + �'�$�'3�$'�" �- ��$� +� 	 � ���$ 1 �'�� 1 ∼ 190

�� -���
a0 = 5

	 +�
"�#3�� $�$ + �� -)�$�"�

NT
-����'$ - � '# -�+�'�" J �$  +��� I

NT = PT/EX ' 1011 -)�$�"��'# -�+�'�"
0�� !�& #�!�"

Fmoy
�$ -'�

Fpic
��"$ ��""2� - � I

Fmoy = NT/frep ' 1010 -)�$�"���
Fpic = NT/τ ' 1024 -)�$�"���

��
frep

��$ + 6�2E��"�� �� �2- 2$'$'�" �$
τ

��$ + ���2� �� + �'#-�+�'�" % �
0 3�'++ "�� ��$ �2
"'� - �

B = F/(2π)2Ωθ
	 ��

Ω
��$ + $ '++� �� + ������ �$

θ
� 

�'J��D�"�� � 0��  "D+�� �� �'J��D�"�� �"$ 2$2 ��""2�  � �) -'$�� * 	 �$ J +�"$ $!-'E��# �"$
2/a0

�$
4/a2

0

� 0�� 3�'++ "��� #�!�""�� �$ ���$�� ��"$  +��� ��""2�� - � I

Bmoy =
Fmoy

(2π)2w2
0θ

2
= 7 × 109 -)�$�"����## 2�#� �2

Bpic = 1.5 × 1017 -)�$�"����## 2�#� �2
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-����'$ - � + ������ % 0 �# �� ��$ '# -��$ "$ �$ E� �'+ - ��$ � "� �'� ��+$2 �$�� �2$��$2 +���
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G* ���� � �
� � � �� ��
������ ����
 ������
��

� �� �� ��{��� � ���y ���

0 ������ % H)�# ��" �� �'�$'"D�� �� + ������ 0 �#�� - � + ���'D'"� ��� 2+��$��"�
E�' ��"$ ���# '�  � �) #- + ��� � � +��� E� �'+� �"$ �"� J '$���� '" '$' +� "�++� �$ ��"$ � "� �"
-+ �#  � "� +� � � �� + ������ % 0 �#�� 	 "��� �$'+'��"� � "� +� � � �� + ������ H)�# ��"
�" - E��$ � �2+��$��"� +'3��� '" '$' +�# �"$ ��+ $'J '�$�� 
*(� 
**� 
K*� � 0� � !�""�#�"$ % ��$
-����'$ 1 + ��'$� �� + ����'++ $'�" �� ��� 2+��$��"� � "� �" + ��� 6�#$�����"�� '"$�"�� � �"
- �+�  +��� -+�$�$ �� �' ��'�" H)�# ��" �

A� $!-� �� ������ % ��$ �2��'$ � "� �� "�#3���&  �$'�+�� 	 �� +��  �$���� � �'"$2�����"$  �
� !�""�#�"$ % -����'$ +��� �� + �'"$�� �$'�" �"$�� �" 6 '��� � � �2+��$��"� -��J�" "$ � ��"
 ��2+2� $��� �0 ���A � �$ �" + ��� 6�#$�����"�� � 0 -��# '7�� �2 +'� $'�" �&-2�'# �"$ +�
� ��"� ������ % H)�# ��" ��J '�"$ 1 �" D���-� �� �)���)���� �� � ����+�!	 E�'  ��""2 -���
+ -��# '7�� 6�'� 	 + -���J� �� + 6 '� 3'+'$2 �� �� $!- � �� ������ % 
�M� 
�B� 
�K� �

�"� #2$)��� $�7�  $$� �$'J� -��� -����'�� �"� ������ % - � �' ��'�" H)�# ��" ��$
� ��$'+'��� �" - E��$ � �2+��$��"� ��22 � "� �" -+ �#  
K/� � �+  2$2 �2#�"$�2 ��� "$ ��� ���,
"'7���  ""2�� E�� ��� - E��$� � �2+��$��"� 3��6� �6� , -�� 	 6��$�# �"$ �) �D2� �∼ E��+E��� "A �
�$ 2"��D2$'E��� �5 ��E� �1 *88 � ��  �$��++�# �"$� -��J�"$ �$�� -����'$� +��� �� + �'"$�� �$'�"
� ��" + ��� 6�#$�����"�� '"$�"��  J�� �" -+ �#  
KK� 	 
KB� 	 
KG� � 0�� ��"�'$2� 2+��$��"'E���
�� - E��$ � �2+��$��"� 2$ "$ $�7� '# -��$ "$�� 	 + �' ��'�" H)�# ��" 6�#$�����"�� ��� ��
$!- � �� - E��$ � �2+��$��"� ��'$ �$�� �� � �� �

0 $��)"'E�� �� �' ��'�" H)�# ��" ��$ $)2��'E��#�"$ + -+�� '"$2���� "$� -��� -��,
��'�� �� � !�""�# �"$ % ��� 6�#$�����"�� � � +� � !�""�#�"$ 2# '� - � +�� 2+��$��"�
��+ $'J '�$�� ��$ 6��$�# �"$ �2� +2 J��� +�� ) �$�� 2"��D'�� % - � � �$ O�--+�� �

�+ 6 �$ �'�$'"D��� +�� � � �� �' ��'�"� H)�# ��" +'"2 '�� �$ "�" +'"2 '�� 
�*� 	
**� 	
K*� I
L" �2D'# � "�" +'"2 '�� 	 +� + ��� �� �' ��'�" H)�# ��"  �"� '"$�"�'$2 $�++� E��

a0 > 1
�

O  "� �� � � 	 ���& � �$� E�' � � 5 ��$�"$ ��"$�'3��"$ 1 -����'�� �� � !�""�#�"$ % I � ��"�
- �$ 	 � "� +��� �262��"$'�+ 	 +�� 2+��$��"� �"$ �" #��J�#�"$ "�" +'"2 '�� �$ 2# �$$�"$ �"
�- ��$�� -'E�2 �� # �#� $!-� E�� ��+� ' �� � !�""�# �"$ �� 0 �#�� 	 �$ 	 � � �$�� - �$ 	 +� -'�
�� � !�""�#�"$ ��$ �2� +2 J��� �� -+�� D� "��� 2"��D'�� % - � � �$ O�--+�� ��+ $'J '�$� �

L" �2D'# � +'"2 '�� +� + ��� �� �' ��'�" H)�# ��" ��$ $�+ E��
a0 < 1

� 0�� 2+��$��"�
���'++�"$  +��� 1 + # �#� 6�2E��"�� E�� +� + ��� �$ +� � !�""�# �"$ % 2# '� " ���$ �
 E� � �
�2� + D� �� 6�2E��"�� - � � �$ O�--+�� ��+ $'J '�$� � � �#� � "� +� � � +'"2 '�� 	 �" � '��" ��
��$ '# -��$ "$ �2� + D� �" 6�2E��"�� 	 '+ ��$ -���'3 +� � � $$�'"��� +� ��# '"� �� � !�""�# �"$
%  � ���  J�� ��� '"$�"�'$2� + ��� �"J'��"

102 6�'� '"62�'����� 1 ��++�� "2���� '��� -���
-����'�� �� � !�""�# �"$ �� 0 �#�� 1 2"��D'� 2D +� � F � + ��'$� 	 "��� "� "��� '"$2�����"�
E� � � � � �� + �' ��'�" H)�# ��" +'"2 '�� �

A� $!-� �� ������ �� � !�""�# �"$ % -��$ �$�� �'���$�# �"$ ��#- �2  �& �!"�)��$��"�
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�� �� �
���� �
� G/
�� +� � !�""�#�"$ % ��$ -����'$  � ����� �� + ����'++ $'�" � �2+��$��"� �� ) �$�� 2"��D'��
�� �� � '"5 ��$2� � "� ��� �$���$���� #  D"2$'E��� - 2�'��'E��� � --�+2�� �"��+���� �� � 'DD+��
��+�" + � #-+'$��� �� �) #- # D"2$'E��� ��"$ + - 2�'���

λu
��$ $!-'E��# �"$ �� + ������ ��

�# � 0 +�"D���� � ��"�� �� � !�""�# �"$ % -����'$ ��$ ��""2� - � + ��+ $'�"
λ = 2λu/γ

2 �O  "� +� � � �� + �' ��'�" % H)�# ��" E�� "���  3����"� � "� ��$$� ���$'�" 	 +� + ���
6� � +'�2 ��� +� - E��$ � �2+��$��"� - ��$ �$�� J� ��##� �"� �$���$��� #  D"2$'E�� - 2�'��'E��
��"$ + - 2�'��� ��$ # '���# 2$�'E�� � O� 6 '$ �� + - 2�'���

λu = λlaser
-+�� ����$� �� + 

�$���$��� 	 �� � !�""�# �"$ % �� # �#� 2"��D'� E�� � "� �" �!"�)��$��" ��"J�"$'�""�+
- ��$ �$�� -����'$  J�� ��� 2+��$��"� � �2"��D'� /88 6�'� -+�� 6 '3 +� �

0 �' ��'�" H)�# ��" � �� $��'� -�'"�'- �&  J "$ D�� I +� -��# '�� ��$ E�� ��� 2+��$��"�
� �2"��D'� �� + ������ �� �8 � �� ��� ��"$ -��� -����'�� �� � !�""�# �"$ %  � ��� � 0� ����"�
��$ E�� + ���2� �� � !�""�# �"$ % -����'$ ��$  ����� 3+� ��++� �2- �"� �� + D2�#2$�'�
�� + �'"$�� �$'�" + ���,6 '��� � � �2+��$��"�� �$ ��$ �� # �#� ����� �� D� "���� E�� ��++� ��
+ ��� 	 � ���$ 1 �'�� 6�#$�����"�� � L"
" 	 ��$$� $��)"'E�� �"$'7��# �"$ �-$'E�� "� "2����'$�
- � �" + ��� �&$��#�#�"$ '"$�"�� ��" + ��� �� B8 H� �"J'��" -��$ ��� ��� �
� � � =� :��= ��?�����:= :� ����:= �: ��;
�:��=

0�� �2��+$ $� ��� ���$'�"� -�2�2��"$�� -���� '�"$ �$�� �$'+'�2� - ��� � +��+�� +� � !�",
"�# �"$ 2# '� - � �' ��'�" H)�# ��" 	 ��- �"� "$ 	 "���  ++�"� 6 '�� +� �)�'& � ��"� # 2$)���
-+�� �'#-+� 	 3 �2� ��� + ��$'+'� $'�" ��� 6��#�+�� � �� �$ O�--+�� ��+ $'J '�$� 	 -��# �$$ "$
� "� �� � � � ��3$�"'� +�� � � �$2�'�$'E��� ����"$'�++�� �� � !�""�# �"$ -����'$ �
� > � � �

;= � 	�
 ?<:����
 =:�< �� � 	�
 
;�=�:;� � 	?<:����
= � �
���
?����:=
0� ��)2#  �� + 
D��� * �*B ��-�2��"$� + D2�#2$�'� �� + �' ��'�" H)�# ��" � A�"�'�2,

��"� �" 2+��$��" ��+ $'J '�$� �� -��- D� "$ � "� + �'���$'�"
x

�$ ���# '� 1 �" + ��� 3��6 ��
-��- D� "$ � "� �"� �'���$'�" 6 '� "$ �"  "D+�

θ
 J�� + � &�

x
� 0 �' ��'�" H)�# ��" ��

+ ��� ��� +�� 2+��$��"� -����'$ �� � !�""�#�"$ % � "� �"� �'���$'�" �2
"'� - � + � "D+�
ϕ
�

L" �2D'# � +'"2 '�� ��
a0 << 1

	 ���& � �$� O�--+�� ��+ $'J '�$�� �������'6� ��"$ ���-�",
� 3+�� �� + �2# '��'�" �� � !�""�#�"$ � "� +� ��#  '"� �- ��$� + % �

0� -��# '�� ��$ ��� + 6�2E��"�� + ���
ω′

0

E�� J�'$ + �2+��$��" E�' 	 �2� +2� - � � �$ O�--+�� 	
� ��&-�'# � �" 6�"�$'�" �� + 6�2E��"�� �� + ��� 2D +� 1

ω0
� "� +� �262��"$'�+ �� + 3�� $�'�� 	

�� + J'$���� �� + �2+��$��"
β
	 �$ �� + � "D+� � �'"$�� �$'�"

θ
	 - � I

ω′

0 = γω0(1 + βcos(θ))
�* �*.�

L"��'$� 	 � "� +� �262��"$'�+ �� '+ ��$ �" #�!�""�  � ��-�� 	 + �2+��$��" ���'++� 1 + 6�2,
E��"��

ω′

0

�$ 2# �$ �� � !�""�#�"$ ��"$ + 6�2E��"�� ��$ �"� "��J�++� 6�'� �2� +2� - �
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��� � * �*B � � �� �� � �� � �
� �
� � �� �� �
� �	

� �� 
� 	 
� � �� ��	 �� �� � ���� �� �� ω0
���
��	�� �� ���� �� � 
������
�	 ���� � 
��� ��

θ
� �� ���
�� �� ��� � �	� � �
�� 
� ���	 �� �
����

�

ϕ
�

� �$ O�--+�� � "� +� �262��"$'�+ �� + 3�� $�'�� � L ++� � �2��'$ I

ωX =
ω′

0

γ(1 + βcos(ϕ))
=

2γ2ω′

0

1 + γ2ϕ2

�* �/8�
0 �)!-�$)7��

ϕ << 1
� � --�'� ��� +� 6 '$ E�� +���E��

a0 << 1
	 +�� �2J ' $'�"� ��

$� 5 ��$�'�� E� �'# -��� +� �) #- 2+��$��#  D"2$'E�� �� + ��� 1 + �2+��$��" ��"$ 6 '3+�� � 0 � "D+�
�� �'J��D�"��

ϕ
�� � !�""�#�"$ ��$  +��� # '"'# � �

0 �2"��D'� �� � !�""�#�"$ % -����'$ � �2��'$ 
" +�# �"$ I

EX = h̄ωX =
2h̄γ2ω0

1 + γ2ϕ2
(1 + βcos(θ))

�* �/ ��
F � �&�#-+� 	 -��� +�� � � �� +� 6 '��� � � �2+��$��"� �$ +� + ��� ��"$ ��'$ ��"$�� -��,

- D $'6� �
θ = 0◦

� 	 ��'$ 1
θ = 90◦

	 + �2"��D'� �� � !�""�#�"$ % #����2� ��+�" + � &� ��
-��- D $'�" �� 6 '��� � � �2+��$��"� �

ϕ = 0
� J �$ � "� ��� � � I

E0◦ = h̄ωX = 4γ2h̄ω0

E90◦ = h̄ωX = 2γ2h̄ω0

�" 2+��$��" �� �8 � �� -����'� �� � !�""�#�"$ % 1 G8� �$ �" 2+��$��" �� G8 � ��
-����'� �� � !�""�#�"$ 1 �8 � �
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0� � !�""�# �"$ -����'$ ��$ ��++'#  $2 J��� + � J "$ � L" �2D'# � +'"2 '��

a0 << 1
�$ + 

�'J��D�"�� �� � !�""�# �"$ ��$  +��� �� + ������ ��
2/γ

	 ��'$ + + �D��� �" $���++� � �� ��"�
� �2# '��'�" �
� >9 � �

;= � 	�
 �;��:� � 	?<:����
= � =� :���: <;��:
0� � � � ��" ���+ 2+��$��"  ! "$ 2$2 $� '$2 	 '"$2�����"� "��� #  '"$�" "$  � � � � ��"

- E��$ � �2+��$��" -����'$ - � �'++ D�  �$� #���+2 � "� �" -+ �#  ���+6 � ���+ $�� 0 ���
� �� C'�+� ����+�� $'�" I �� ,0� C� � � 0 6�"�$'�" �� �'�$�'3�$'�" �" 2"��D'�� ��� 2+��$��"�
��$ + �D� �$  + 6��# � 
K/� I

f(γ) = f0exp
−γ/γ0 .

�* �/*�
O "� +� � � -�2��"$ 	 '+ 6 �$ ��##�� +�� � !�""�#�"$� -����'$� - � + ��"��#3+� �� + 

6�"�$'�" �� �'�$�'3�$'�" ��� 2+��$��"� �" + �'���2$'� "$ �" �"� ��##� �� - E��$� � �2+��,
$��"� # �"��'"2$'E��� �

0�� �'#�+ $'�"� �"$ 2$2 6 '$�� 1 - �$'� �� + � �$'�+� �� � "D �$  + � 
�*� �" -��" "$ �"
�- ��$�� �&- 2�'# �"$ + � �2+��$��"� �3$�"�  � 04� +��� �� "�� �&-2�'�"��� �" ��++ 3�� $'�"
 J�� + �2E�'- � �0F �� 0�0 � � 0�� - � # 7$��� �� + �'#�+ $'�" ��"$ �2$ '++2� � "� +� $ 3+� �
* �* �

L"��D'� + ��� B88 # �
O��2� �� + ��� /8 6�
O ' # 7$�� �� + $ �)� 6� � +� �8

µmL"��D'�� ��� 2+��$��"� �- ��$�� �&- 2�'# �"$ +
A) �D� �� - E��$ � �2+��$��"� B "A
A���� "$ B8 ��
O��2� �� - E��$ � �2+��$��"� �88 6�
O ' # 7$�� $� "�J���� �� - E��$ �8
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D��� * �*G ��-�2��"$� �"� '"$��-�+ $'�" �� �- ��$�� � �2+��$��"� �&-2�'# �"$ +  '"�'
E�� +� �- ��$�� �� � !�""�# �"$ % -����'$ ������-�"� "$ � 0� �- ��$�� ��$ + �D� �$ -'E�2 J���
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�- ��$�� -'E�2 1 �"� 2"��D'� ��""2� - � * �/ � � +� �- ��$�� �� � !�""�#�"$ % -����'$ ��$ - �
��"�2E��"$ + �D� � 0 � �$�� � ��� ��$ �'���$�# �"$ +'2�  �& -��-�'2$2� �� + $� "�6��#  $'�"
�� C���'�� E�' '# -��� E� ��" �'D" + ����$ $�#-���++�# �"$ ��'$ + �D� �- ��$� +�# �"$ �

0� $ 3+� � * �/ ��""� +�� � � �$2�'�$'E��� �� + ������ H)�# ��" �$ �" - �$'��+'�� ���&
E� "$'$2� '# -��$ "$�� E�' ��"$ +� !�& �� -)�$�"� �$ + 3�'++ "�� �2
"'� - � +�� 6��#�+��
* �*B �$ * �*G �

EX
�- ��$�� + �D� -'E�2 1 � ���

τX
/8 6� �+ ����

Fpic
�-)���8 ��� �� �

6 × 1018

Fmoy
�-)���8 ��� �� �

2 × 106

Bpic
�-)���## 2�#� �2�8 ��� �� �

2 × 1016

Bmoy
�-)���## 2�#� �2�8 ��� �� �

2 × 105O'J��D�"��
θX ∼ 1/γ

� B8 # � �
H '++� �� ������

σr 6µm
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0�� 6��#�+�� * �/ � '"�'E��"$ + �'"!��"�� �� + � "D+� � �'"$�� �$'�"
θ
�"$�� +� + ��� �� �' �,

�'�" �$ +� - E��$ � �2+��$��"� � 0� "�#3�� $�$ + �� -)�$�"� -����'$ �" 6�"�$'�" �� + � "D+�
θ��$ ��-�2��"$2 ��� + 
D��� * �*M +���E�� +� + ��� ��$ -�+ �'�2 +'"2 '��# �"$ �$ �'���+ '��# �"$ �
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��  !�"#$#% &'% (% �!)*+% ,% -.!#!�" %"# -('" /)-!+#$�# (!+"&'%
θ = 0◦

%# &'$�, (% ($"%+
%"# -!($+/"0  /+ '($/+%) %�# �

1$--%(!�" -$+ $/((%'+" &'% ( 2$�3(% , 2/�#%+$ #/!� $ $'""/ '�% /�4'%� % "'+ ( 20�%+3/% ,'
+$5!��%)%�# 6 -+!,'/# � 7� +$/"!� ,' ,0 $($3% 8!--(%+ &'/ %"# , 2$'#$�# -('" /)-!+#$�#
&'$�,

θ
%"# - %#/# 9 ( 20�%+3/% 6 $'3)%�#% (!+"&'%

θ
,/) /�'% �

: ; <=>?@ABCDB
E 2%F- 0+/%� % $ 0#0 G$/#% $H% (% ($"%+ IJJ KL ,' E�M � E% " .0) $ ,% ( 2%F- 0+/%� % %"#

+%-+0"%�#0 "'+ ($ N3'+% � ��O �
P /%� &' 2/( $/# 0#0 -('" %Q  $ % , 2'#/(/"%+ '�% 30!)0#+/%  !�#+%R-+!-$3$#/H% 9 �!'" $H!�"

 .!/"/ ($ 30!) 0#+/%
90◦ SITU -!'+ 0H/#%+ , 2%�,!))$3%+ (% "5"#V) % ($"%+ -$+ ,%" +%#!'+" ,%

G$/" %$' �
E!+" ,% �!" %F-0+/%� %" 9 (% ($"%+ %"# ,/H /"0 %� ,%'F -$+#/%" � E% G$/" %$' -!)-% G$/# TJ

G" %#  !�#/%�# WJJ ) X � Y( "%+# Z ($ -+!,' #/!� ,' -$&'%# , 20(% #+!�" � Y( %"# G!  $(/"0 ,$�"
'�% #$ .% G!  $(% ,%

10µm
,% ,/$) V#+% "'+ (% *!+, , 2%�#+0% , 2'� [ %# ,% 3$\ "'-%+"!�/&'%

, 2.0(/') ]T)) ,% ,/) V#+%^ $H% '�% -$+$*!(% .!+" $F% ,% TJ  ) ,% ,/"#$� % G!  $(% �
E 2/�#%�"/#0 ($"%+  +_#% %"# , 2%�H/+!�

1 × 1019W/cm2 �
E% G$/" %$' "!�,% 9 ,% ,/`'"/!� K.!) "!� 9  !�#/%�# WJ ) X � Y( %"# G!  $(/"0 ,$�" '�% #$ .%

G!  $(% ,%
10µm

,% ,/$) V#+% $H% '�% -$+$*!(% .!+" $F% ,% TJ  ) ,% ,/"#$� % G!  $(% "'+
(% * !+, $++/V+% ,' [ %# ,% 3$\ � E 2/�#%�"/#0 ($"%+ H$+/% $H% ($ ,'+0% ,% ( 2/)-'("/!�  .!/"/% �
7 ((% %"#  !)-+/"% %�#+%

1 × 1017W/cm2
%#

1 × 1018W/cm2 �
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� ������������ ! ���"���� # !� # �"# $��#% �# "#� ��&# ��'!��" !"$'�# $�'#�"'�# �  �"#
())* + (),* + ()�* + ()-* + ()�* + ()�* � �" .��#�"�' ! ���"���� # /'� � ��� '����#� $�'� � �"0$ ���" �"
!" !�1'#�� 23�% #� ����� ���� $�� #����4" �'��5%�!'�� � 6� # �" ��"� !� # �"# !�����# + �"
% ��� �#% " ! ������������ $ "'� #" !���%$�#"� " �"# /'"�/'"# $3��#"# 7 �" ��#"� "0���" "�
!�8"��$$" ' " � #��9����� :�%� � ;��" #" ���!'�� $�� ' " � !" $��#% � !� � �� 8 ��"##" !"
$3�#" "#� �"����8 �#�" � � ��%$���'!" !" � �� !" $��#% � ���<� = '#/' ��' !�."��"% " � + %�%" � �>
!"# ��"���� # $��4�# !� # � �� !" #� � ��������# $�� #� �3�%$ ��"����#����/'" � �"# � "�4�"#
% �0�% ��"# ���"� �"# ����" � !" � ���!�" !" �? @"A ���# !"  �# "0$���" �"# "� ���"�4 " �
% �� �" � � �?? @"A �

�� �3��4" �����" !' $�/'"� ! ���"���� # + � ��4��" #'� ��'� �" #$ "���" "� % "#'��" �8"� ' 
����"��"'� !" �3��4"# + "#� �B$�/'"%" � !" ,  C � �"# % "#'�"# .���"# �8"� ' #$ "����% &��"
D ��"���� # #� � �"$��#" ��"# #'� �� E4'�" � ��� �

��F � ���	
��
�� 	� ��G����H��� I J�� 	
K
�
�� LM�H���

N�'# �8� # �" �� � �"0$ ���" �" !" !�1'#�� 23�% #� D $�'#�"'�# �"$��#"# #� # = �% ��#
��'##�� D �9#"�8"� �" ��B�  "%" � O �##' !" �� !�1'#�� 23�% #� �

P�'� "0$��/'"� �"��  �'# $�'8� # $��$�#"� $�'#�"'�# 3B$��3&#"# 7
� C"��" "0$���" �" $��#" �" !" 4�� !"# !�Q �'���# "0$ ���% " ���"# D ��'#" !" �� #'$"�5

$�#���� #$����5�"%$��"��" !' $�/'"� ! ���"���� # "� !' ��#"� !" !�1'#�� 23�% #� �
2"%$��"��"% " � + �� !'��" !' $�/'"� ! ���"���� "#� #'$$�#�" R��" � .���"'�" D S $# �
�� !'��" !" � ��%$'�#�� !' ��#"� !" !�1'#�� .��� T? .# � �� #'$"�$�#���� �"%$��"��"
!" �"# !"'0 �%$'�#�� # #" $��$�4"� � $ "�$ " !��'����"% " � "#� !������" � ;��" � �"#�
! ��'�� � $�'# /'" �" .��#�"�' ! ���"���� #  �"#� $�# 8�#�9 �" � U� .�'� ����# .���" !"#
#'$$�#���� # /'� � �' %�%" � !" #� ������� "� !" #� ����8�" " #����" !" = "� !"
4�V �
6$�����"% " � + #� � �� #'$$�#" /'" �� !�% " #�� ��� #8"�#" !' $�/'"� ! ���"���� # +
�� � /' ��� "#� " ���" �� E � !� # �" $��#% � + "#� �� % R%" /'" �"��" !' ��#"� /'� �"# �
$��!'�� + "��" .��� " 8 ��� 

200µ
% D �� #����" !' = "� !" 4�V � �� !�% " #�� !' .��#�"�' !"

!�1'#�� ��� � !"
10µ

% + �� #'$"�$�#���� #$�����" "#� + !" % R%" /'" �� !�#���9'��� 
�"%$��"��" + "0��R% "%" � !������" D �����#"� �
C"# !"'0 ���#� # $ "'8" � "0$��/'"� � ���3"� !" � �"0$ ���" �" �

� W " �'��" 3B$��3&#" �� �"� " �� !'��" !' $�/'"� ! ���"���� # � �� !'��"  �� = �% ��#
��� % "#'��" "� $ "'� R��" !" /'"�/'"# $���#"�� !"# � ; "1"� + #"�� + �"'�# � "�4�"# + �"#
��"���� # #� � $��4�# D !"# % �%" �# !�1��" �# "� ��������# #'� !"# !�#�� �"# $�'# �'
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%�� # �� 4'"# � C"�� �� !'�� D ' ����4�##% " � �"%$��"� !" �� !'��" !' $�/'"� � � � #
�" ��# + �� !" #��� ! ���"���� # �3'�" �� #� /'" � �"Q ������ !" �� !�1'#�� 23�% #� �

N�'#  " $�'8� # $�# 8���% " � �����9'"� � ���3"� !" �"��" "0$ ���" �" D � �' �' � ��'��" !"
�"# $�� �# + �"$ " !� � + $ �'#�"'�# �% ��������� # #� � $�##�9 �"# $�'� $���"� D �"# $��9�&% "#
"� �" �"� !" $��!'��" !' ��B�  "%" � O $�� !�1'#�� 23�% #� 7

� �� $�"% �&�" "#� ! �'����#"� ' " 4��%����" �� ��" $��$�4���8" � C"�� .������"���� �� #'5
$ "�$�#���� �"%$��"��" "� #$�����" �

� �� #"�� !" #"���� ! ��8��� $�'# ! �� "�4�" !�#$� �9�" !� # �" ��#"� !" % � �&�" D $�'8���
���� 4"� �� !'��" !' .��#�"�' !" !�1'#�� �" 4��!� � ' " � �" #��� #'Q #� �"� "�
�'4%" �"� �� $��9�9����� !" �"��'8�"% " � �"%$��"� �

� ; E + ' " �'��" $ �##�9 ����� #"���� ! �'����#"� ' " �'��" % ��3�!" ! ������������ ! ���"�5
��� # $�� � = "���� $�'8� � $��!'��" !"# $�/'"�# ."%��#"�� !"# (,?* (, S* �
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P�'� %"���" " �8�!" �" �"# �8� ��4"# "� �"# � �� 8� �" �# /'" $��#" �" � �"# #�'��"#
O 23�% #� "� ���% �� + ��%$��� # �"# ��� �'0 �'��"# �B$ "# !" #�'��" O "0 �#�� �"# �B� �
!"# ���������#��/'"# $���3"# 7 �� #�'��" O #B �3����� + �� #�'��" O

Kα
+ "� �" .'�'� ��#"� D

��"���� # ��9�" ��;� 7 ��"" ;�"���� ��#"�� �
�"# ��9�"�'0 � �) "� � �, ����$��'�" � �"# ���������#��/'"# !" �3��' "# !" �"# #�'��"# O �
�"# ���������#��/'"# D ��%$��"� #� � $�� ��$��"% " � 7 �" �'0 + �� 9����� �" + �"# 4�%%"#

#$ "�����"# "� �� !'��" �

���%�� O �D S�? "A � 23�% #� O �D S �"A �

NX

�$3��% $'�#�� �? �S�  ! �
108 105

Fmoy(ph/s/0.1% BW ) 107 2 × 106

Fpic(ph/s/0.1% BW ) 1021 2 × 1018

Bmoy(ph/s/mm
2/mrad2/0.1%

 ! �
7 × 106 2 × 105

Bpic(ph/s/mm
2/mrad2/0.1%

 ! �
1.5 × 1014 2 × 1016

!'��" .# ���#"�� .# ���#"��
C�!" �" S? " V S? " V

#$% � � �) � C��������#���/'"# !"# #�'��"# O ���%�� "� 23�% #� 

#B �3����� #B �3����� & ��#"� O �;�
NX

�$3��% $'�#�� �? �S'  ! �
2.5 × 107 3 × 102 1012

Fmoy(ph/s/0.1% BW ) 2 × 1010 3 × 106 5 × 1013

Fpic(ph/s/0.1% BW ) 2.5 × 1017 3 × 1015 1025

Bmoy(ph/s/mm
2/mrad2/0.1%

 ! �
1020 6 × 1010 5 × 1024

Bpic(ph/s/mm
2/mrad2/0.1%

 ! �
1024 6 × 1019 1034

!'��" S?? $# S?? .# S?? .#
��!" �" �?? " V S? �" V S?? " V

#$% � � �, � C��������#��/'"# !"# #�'��"# 23�% #� O #B �3����� & ��#"� "� ��#"� D ��"���� #
��9�"#

P��% � �"# #�'��"# O "0 �#�� �"# + ��  �"0 �#�" !� � �'�' " /'� #��� D �� .��# $��B�3��% ���/'"
"� ."%��#"�� !" � � �� ���R� !"# #�'��"# O 23�% #� "� ���%�� ��#�!" !� # �" .��� /' �"��"#
$ "'8" � �"%$��� �"# !"'0 ���������#��/'"# 7 �� !'��" !" � ��%$'�#�� "#� �� % R%" /'" �"��"
!' ��#"� + "��" $ "'� !� � R��" � ."��"'�" D S?? .# ( �"# #$ "���"# !" �"# !"'0 #�'��"# # ���" !" �
!" /'"�/'"# "A �' �"A �
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� ��'��" $��� + " �"�% "# !" �'0 + 9�" /'" $�'# .��9 �" /'" �"�' � !"# #B �3����� # + �� "#�
��'� !" % R%" #'Q #�%%" � �%$���� � $�'� '����#"� �"# #�'��"# O 23�% #� "� ���%��
$�'� !"# �$$������� # " !�1 ������ O �' ;O��6 �

; �� ��'#�� + ��%%" �" %� ��" � �"# ��9�"�'0 � �, "� � �) + �" ��#"� D ��"���� ��9�"
#'�$�##"�� ���4"% " � ��'# �"# �B$ "# !" #�'��"# O + �"$ " !� � + �"# #�'��"# O $��#% � + "� " 
$�����'��"� �"# #�'��"# 23�% #� "� ���%�� + $ "'8" � R��" !"# #�'��"# O D �� .��# $ "�.��5
% � �"# "� ��%$���"# $�'8� � !�  "� ���&# D !" ���4"# !�%�� "# ! ��$$������� # �
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�' ��'�# !" � �� �"������ " ��" ' ��#"� � �" #" "� ' $��#% � #�'# !" #" + $ �'#�"'�#
$���"##'# ��!����.# $ "'8" � $��!'��" !' ��B�  "%" � !� # �" !�% �� " ! �� "�4�" O 5WA 7
�" ��B�  "% " � !" ���%�� /'� � ��� !����� �' �3�$���" � �#$ "���" �� �� ' � + �" ��B�  "5
% " � �����#��  "� !"  �"% ##���3�' 4 �#$ "���" �� �� ' � + �" ��B�  "% " � !" �"��%9� ��#� #
��!����8"# �#$ "���" �� �� ' � + �" ��B�  "%" � !"# ��� #���� # ���% �/'"# �#$ "���" !" ���"#�
"� �" ��B�  "%" � 3��% � �/'" ! �" #"%9�"# ���% �/'"# �#$ "���" ! �3��%� �/'"# + %'���$ �"#
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Ḡ(T, ω) =

√
3

π

[

19.56 + ln
T 3/2

ωZ

] #�
h̄ω < T.



� �� � ��	� �� ����� �� � -,

1e−07

1e−06

1e−05

0 200 400 600 800 1000 1200 1400

E
m

is
si

vi
té

 s
pe

ct
ra

le

Energie (eV)

T0=100 eV
T0 = 300 eV
T0 = 500 eV

1e−07

1e−06

1e−05

0 200 400 600 800 1000 1200 1400

E
m

is
si

vi
té

 s
pe

ct
ra

le

Energie (eV)

T0=100 eV
T0 = 300 eV
T0 = 500 eV

��� � � �� 	 
� �
��� �� ������ �� ��� �� � ��������� ���� � ���
Te = 250

� �� Te = 500
� � ��

Te = 1000
� �� �  �!� ����"�� �� # �
���� �� $���� � ��� ��� � ����� # �%&� �� 
�� � %�% ��"�"� %��

' ()* +,,+- +.) ,/ 01.2340 0,. 20/2),05.)0 ,62 40, 78620, � �� 0. � �9 : 05 6.+4+,35. 40, ;06<
0</20,,+=5, ;6 >31.062 ;0 ?365. : /=62 ;0, /43,* 3, ;0 .0* /)23.620,

Te@ �AA 0B :
Te@�AA

0B 0.
Te@ CAA 0B �

'3 /6+,,3510 +5,.35.35)0 .=.340 )* +,0 /32 65+.) ;0 .0* /, 0. /32 65+.) ;0 -=46* 0 0,.
=D.0560 05 +5.)8235. 4 ()* +,,+- +.) ,/ 01.2340 ,62 .=6.0, 40, >2)E60510,

ω
� F 440 0,. ;=55)0

/32 G

dU

dt
= 8π

∫

∞

0
jωdω

= 2.19.10−40neniZ
2
√
T HI *

−3 ,
−1J H� �9J

=K 43 .0* /)23.620
T

0,. 0</2+* )0 05
K◦

0. 40, ;05,+.),
ne

0.
ni

05 *
−3 �

'0, ;)/ 05;3510, ;6 23L=550* 05. ;0 M20* ,,.23N4658 .N02* +E60 : ;)1=6435. ;0 � ��: ,=5.
40, ,6+-35.0, G

	 '3 /6+,,3510 +5,.35.35)0 12=O. 3-01
Z2neni

: 10 E6+ 0,. )E6+-3405. P
Zn2

e

G 40 23L=550Q
* 05. 368* 05.0 E63;23.+E60* 05. 3-01 43 ;05,+.) )401.2=5+E60 ;6 /43,* 3 0. 0,. /46,
+* /=2.35. /=62 40, * 3.)2+36< 4=62;, �

	 ' ()* +,,+=5 ;6 23L=550* 05. 0,. +,=.2=/ 0 �
	 '0 ,/ 01.20 ;)/ 05; ;0 43 .0* /)23.620 ;6 /43,* 3 � R46, 40 /43,* 3 0,. 1N36; 0. /46,

40 ,/ 01.20 0,. ).05;6 �



-� �������	 � � � ���	� ��
�	�� �� ��� ������

1e−07

1e−06

1e−05

0 200 400 600 800 1000 1200 1400

E
m

is
si

vi
té

 s
pe

ct
ra

le

Energie (eV)

T0=100 eV
T0 = 300 eV
T0 = 500 eV

1e−07

1e−06

1e−05

0 200 400 600 800 1000 1200 1400

E
m

is
si

vi
té

 s
pe

ct
ra

le

Energie (eV)

T0=100 eV
T0 = 300 eV
T0 = 500 eV

��� � � �9 	 
� �
��� �� ������ �� ��� �� � ��������� ���� � ���
Te = 250

� �� Te = 500
� � ��

Te = 1000
� �� �  �!� ����"�� �� # �
���� �� $���� � ��� ��� ���� �� # �%&� �� 
�� � %�% ��"�"� %��

R=62 13416402 40 5=*D20 ;0 /N=.=5, /2=;6+., /32 23L=550* 05. ;0 M20* ,,.23N4658 : +4
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��� � � �� 	 ��"���� 
� %� "�� � �� ������ �� ��� �� � ��������� ���� �� # �� 
�"�� �� ���� � �
ne = 1019cm−3

1N34062 G
∂T (r, t)

∂t
=

κ

(3/2)nek
∆rT (r, t) − Tpertes(r, t) H� ��J

=K
κ

0,. 43 1=5;61.+- +.) .N02* +E60 :
ne

43 ;05,+.) )401.2=5+E60 0.
Tpertes

65 .02* 0 1=5.0535.
40, / 02.0, /32 23L=550* 05. �

�0..0 )E63.+=5 ,0 2),=6; 56* )2+E60* 05. � '0, 2),64.3., ;0 43 ;L53* +E60 ; (0</35,+=5
;6 /43,* 3 ,=5. ;)12+., ;35, 4 (3550<0 9 �

�5.)20,,=5, 5=6, 65+E60* 05. +1+ 36 23L=550* 05. ;0 M20* ,,.23N4658 )* +, /32 40 /43,* 3 �
F5 6.+4+,35. 40, 2),643., ;0 4 ()E63.+=5 ;0 43 1N34062 � �� 0. 4 (0</20,,+=5 � �9 : =5 /06.

=D.05+2 4 ()-=46.+=5 .0* /=20440 ;0 43 /6+,,3510 +5,.35.35)0 ;6 23L=550* 05. ;0 M20* ,,Q
.23N4658 )* +, /32 4 (05,0*D40 ;6 /43,* 3 � F440 20/2),05.)0 ,62 43 78620 � �� /=62 +446,.202 40
>3+. E60 40 23L=550* 05. )* +, ;)/ 05; P 43 >=+, ;6 -=46* 0 0. ;0 43 .0* /)23.620 ;6 /43,* 3 �

'3 /6+,,3510 )* +,0 ;)12=O. 405.0* 05. 3-01 40 .0* /, � �6< /20* +02, +5,.35., : 43 .0* /)Q
23.620 0,. )40-)0 * 3+, 40 -=46* 0 0,. >3+D40 � F5,6+.0 : 43 .0* /)23.620 1N6.0 * 3+, 40 -=46* 0
368* 05.0 10 E6+ 3..)560 43 ;+* +56.+=5 ;0 43 /6+,,3510 23L=55)0 �

� 35, 40 D6. ;0 ;).02* +502 43 ;62)0
τ

;0 4 ()* +,,+=5 ;6 23L=550* 05. ;0 M20* ,,.23N4658 :
+4 >36. 1=* /3202 40, /6+,,3510, )* +,0, /32 10 /2=10,,6, 0. /32 1046 + ;0, 201=*D+53+,=5, 23Q
;+3.+-0, H10 ;025+02 50 ,023 ;)12+. E60 ;35, 43 ,01.+=5 ,6+-35.0 * 3+, +4 5=6, >36. 4 ()-=E602
;�, * 3+5.0535. /=62 ;).02* +502

τ J � F5 0
0. : 4=2,E60 43 .0* /)23.620 0,. ,6� ,3* * 05.
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��� � � �C 	 ���� ��� ��� � �"���� 
�� %� "� �� � �� ������ �� ��� �� ��
�� �"� �"� �� �� ������ ��
� ��� �� � ��������� ���� �
D3,,0 : 40 /2=10,,6, ;0 201=*D+53+,=5, 23;+3.+-0, 0,. ;=* +535. 0. +4 5 ()* 0. E60 /06 ;0
23L=550* 05. ;0 M20* ,,.23N4658 � '0 23//=2. ;0, /6+,,3510, )* +,0, /32 23L=550* 05. ;0
201=*D+53+,=5, 23;+3.+-0, 0. /32 23L=550* 05. ;0 M20* ,,.23N4658 0,. 20/2),05.) 05 >=51Q
.+=5 ;0 43 .0* /)23.620 ;6 /43,* 3 ,62 43 78620 � �C �

�5 1=5,.3.0 E60 4=2,E60 43 .0* /)23.620 0,. ,6� ,3* * 05. D3,,0 : 40 /43,* 3 -3 /46.�.
/ 02;20 ;0 4 ()5028+0 /32 201=*D+53+,=5, 23;+3.+-0, E60 /32 23L=550* 05. ;0 M20* ,,.23N4658 �
'0, ;06< 23L=550* 05., ,=5. )836< /=62

T = 100
0B �

�62 43 78620 � �� ;0 4 (3550<0 9 =5 -=+. E60 43 ;62)0 5)10,,3+20 /=62 E60 43 .0* /)23.620
;6 /43,* 3 ,=+. ;0 �AA 0B 0,.

τ ∼ �CA /, /=62 65 /43,* 3 ;0 .0* /)23.620 +5 +.+340 0,.
T0 @� �0B 0. ;0 ;05,+.)

ne@ �×1019 1*
−3 �

�0..0 =D,02-3.+=5 /02* 0. ; (=D.05+2 4 (=2;20 ;0 8235;062 ;0 43 ;62)0 ;0 4 ()* +,,+=5 ;6
23L=550* 05. ;0 M20* ,,.23N4658 �
��� ��	�	 �
� �
��� ��
�

� 35, 40, 1=5;+.+=5, 0</)2+* 05.340, ;)12+.0, ;35, 40 .3D4036 � �� 0. 3-01
ne = 1. ×

1019cm−3 :
T = 150

0B : 43 /6+,,3510 .=.340 )* +,0 /32 23L=550* 05. ;0 M20* ,,.23N4658 0.
/32 +* /64,+=5 : ;=55)0 /32 43 >=2*640 � �9 : 0,. 34=2, G

P = 1.2 × 1017 0B 
�CA/,
* * 3

�+ ; (36.20 /32. : .=6, 40, /N=.=5, ,=5. )* +, P �AA 0B H)5028+0 P 43E60440 =5 , (+5.)20,,0
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!" �����#�� # .���"# $�� ' ��"���� "#� ! ��'�� � $�'# 4�� ! /'" #� � "�4�" "#� �% $���� �" �
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a0

�'4%" �" � � ��'��" $��� + �"# �����5
#�� # ��� � !�$ " !� �"# !" �� ���= "�����" !" � ���"���� + �" ��B�  "%" � !"  �"% ##���3�' 4
�"����8 �#�" $��!'�� " !�$" ! �'##� � C"���� "# !"# ���������#��/'"# !' ��B�  "%" � !"
 �"% ##����3' 4 #� � + $�'� �"��" ���#� + $���3"# !" �"��"# !' ��B�  "%" � !" ���%�� �

��� *� &� �  � �!� $��$�#" � ' " "0$�"##�� � ��B��/'" !" �� $'�##� �" �% �#" $�� ��B� 5
 "% " � !"  �"% ##���3�' 4 �"����8 �#�" /'� # ��= '#�" D �"'�# ����'�#  '%���/'"# � �� $'�##� �"
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P [W ] = 3.24 × 10−8a0(0.6a
3/2
0 + 1)

(

Z

10

)2 ( ni
1020cm−3

)(

1µm

λL

)2

� � # �"# �� !���� # "0$���% " ���"# !' ��9�"�' ) �S+ �� $'�##� �" �% �#" 8�'� ����# 7

P = 2.5 × 103!
�' .��� !" � �� "�4�" �"����8 �#�" !"# ��"���� # + �" #$ "���" !' ��B�  "%" � !"  �"% ##5

���3�' 4 �"����8 �#�" !��� # ���" !�" = '#/' �D /'"�/'"# @"A �
� " % � �&�" D % �0�% �#"� �"  �%9�" ����� !" $3��� # $��!'��# + �� #�!��� # /'" ��'#

�"# $3��� # ��" � ' " � "�4�" �4��" D S �"A + �"  �%9�" ����� !" $3��� # $��!'��# "#� ����#
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NP = 5 × 105$3��� #��%$'�#�� 

� �� � ��
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� 	� 	
 � 
���� ��������

���# ! �' " �����#�� ' ��"���� $"'� #" �"��%9� "� �8"� ' �� 7 #� ' ��"���� ! �� "�4�"
�� ���/'"

EC
#" �"��%9� " #'� '  �8"�' ! �� "�4�"

Ei
! �' �� + ' $3��� ! �� "�4�"

E = Ec + Ei
"#� �% �# � U� " ��#'��" � ��% �##�� ! �' ��B�  "%" � !" #$ "���" �� �� ' �

C�%%" �" % � ��" �� E4'�" T �, + �" $���"##'# !" �"��%9� ��#� # ��!����8"#  " !"8�" �
�% $���� � /'" ���#/'" �� �"%$����'�" !' $��#% � "#� #'Q #�%%" � 9�##" �

�� $'�##� �" �% �#" $�� �"��%9� ��#� ��9�"5��� ! �' $��#% � D �� �"%$����'�"
Te

8�'�
(� S* 7

Pr[W/cm
3] = 1.69 × 10−32 × neT

1/2
e

∑

Z2n(Z)

(

EZ−1

Te

)

�T �) �

�>
ne

"#� �� !" #��� ��"���� �/'" +
n(Z)

"#� �� !" #��� ! ��� # !� � �" !"4�� ! ��� �#���� 
"#�

Z
"�
Te

"#� �� �"%$����'�" ��"���� �/'" �
� � # �" ��# !" � �3���'% + ��  �B � /'" !"'0 ����# ! ��� �#���� "� �"��" "0$�"##�� #" ��!'��

D 7

Pr[W/cm
3] = 1.69 × 10−32 × neT

1/2
e

(

n(1)
E0

Te
+ n(2)

E1

Te

)

�T �,�

�>
n(1)

"�
n(2)

#� � �"# $�$'����� # ! ��� # " "+ "� " "2+ �
�" #$ "���" !' ��B�  "% " � !" �"��%9� ��#� # "#� !�  � $�� � ��% �##�8 ��� #$ "�����"

jrω
7

jrω = 2.7 × 10−2jω
Z2

T (keV )1/2
e1.36×10−2Z2/T (keV )

�>
jω

"#� � ��% �##�8 ��� #$ "�����" !�E �" $�� T �S �
� ��% �##�8 ���

jrω
��� � !�$ " !� �" !"

1/T 1/2 + �" ��B�  "% " � �% �# $�� �"��%9� ��#� #
!����<� /'� ! �� �"%$����'�" !' $��#% � �'4% " �" �

�"# �"��%9� ��#� # 8"�# � ����� .� !�%" ��� !" " "2+ $��!'�#" � !"# $3��� # ! �� "�4�"#
#'$ ���"'�"# D ,) �) "A "� �"# �"��%9� ��#� # 8"�# " "+ �> �"# ����# "0����# !" " "2+ �$$���<5
��� � % �= �������"% " � D !"# � "�4�"# $�'# 9�##"# $'�#/'" �"# $��" ��"�# ! ��� �#���� #� �
$�'# .��9�"# � �" #$ "���" ���������#��/'" !' ��B�  "%" � !" �"��%9� ��#� "#� �"$��#" ��
#'� �� E4'�" T �� �
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�75 ; (=D.05+2 65 =2;20 ;0 8235;062 ;6 5=*D20 ;0 /N=.=5, /2=;6+., 4=2, ;0, 201=*Q

D+53+,=5, 23;+3.+-0, : =5 /06. ;+20 E60 ,+ .=6, 40, )401.2=5, ;6 /43,* 3 ,0 201=*D+53+05.
;+201.0* 05. ,62 4 ().3. >=5;3* 05.34 H+4, ,=5. 36 5=*D20 ;0

Ne = 1.6× 1011 ;35, 40 -=46* 0
>=134 05 1=5,+;)235. 65 /43,* 3 ;0 ;05,+.) )8340 P

ne = 1× 1019 1*
−3J 40 5=*D20 .=.34 ;0

/N=.=5, )* +, ,62 4 (05,0*D40 ;6 ,/ 01.20 ,023+. G

Np ∼ 1.6 × 1011 /N=.=5,
+* /64,+=5
�π,.2
.

�5.)20,,=5, 5=6, * 3+5.0535. 36< 0
0., E60 40, ;+
 )205., /323* �.20, -32+3D40, ;0 4 (0<Q
/ )2+0510 =5. ,62 40 23L=550* 05. ;0 201=*D+53+,=5, 23;+3.+-0, G

	 '3 ;05,+.) ;6 /43,* 3 3 650 +5�60510 G / 46, 0440 0,. )40-)0 0. /46, +4 L 3 ;0 201=*Q
D+53+,=5, � �3+,35. +5.02-05+2 P 43 >=+, 65 )401.2=5 0. 65 +=5 : 43 /6+,,3510 )* +,0 /32
201=*D+53+,=5, 23;+3.+-0, ;)/ 05; ;6 /2=;6+. ;0, ;05,+.), )401.2=5+E60 0. +=5+E60 :
,=+.

Zn2
e

�
	 '=2,E60 40 /43,* 3 0,. 1=* /4�.0* 05. +=5+,) : 43 /=432+,3.+=5 ;6 43,02 5 (3 /3, ; (+5Q
�60510 ,62 40 23L=550* 05. )* +, 4=2, ;0, 201=*D+53+,=5, 23;+3.+-0, � M +05 E60 40
/43,* 3 ,=+. /46, 1N36; 05 /=432+,3.+=5 1+21643+20 : 40 23L=550* 05. ;0 201=*D+53+,=5
5 (05 ,023 /3, * =+5, +* /=2.35. � '0 /43,* 3 /02;23 /46, ; ()5028+0 /32 23L=550* 05. ;0
M20* ,,.23N4658 0. 50 ,0 201=*D+5023 E60 4=2,E60 ,3 .0* /)23.620 ,023 ,6� ,3* * 05.
D3,,0 H78620 � �CJ� '3 .0* /)23.620 P /32.+2 ;0 43E60440 40, 201=*D+53+,=5, ;0-+05505.
+* /=2.35.0, 0,. 43 * �* 0 E60440 E60 ,=+. 43 /=432+,3.+=5 ;6 43,02 �
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$��#% � �

� � # �" ��# !" � �3���'% �"# ��� #���� # $�##�9 �"# $��!'�#" � !"# $3��� # ! �� "�4�"#
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Ne = 1.6 × 1011 "� �"  �%9�" !" $3��� # $��!'��# "#� 7

NP = 1.6 × 1011 $3��� #��% $'�#�� �
4πstr.
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�� # (��* � �" %��� �#% " !" $��!'���� ! �3��% � �/'"# $ "'� #�%$�"% " � #" !���%$�#"�
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)#�!���#�� ������� ���� �� ��� ��� ��'������ !� *���� ���������  ���� /


#�� � 4#<���0#��  4�� ����#� �*#� �#� 1��  #��1��  �  ���� ��� $# )� ��� ���  � <#�! �0���
!� 5 �� !� '�A / �� >'��� � /, � #���� ��� �� �'� �"��1�� !�  �  �� ���� �� ��� ��� !�@���#�
�*#� �#� 3 � ������ �� �0�!��)�  �� A#��� !� $#���� ����������  ���� / �� )#������ ��� )����
>'��� 1��  � A#�� ! 4�� ����#� ��� ������ !���  � ������ �0��� !� 5 �� !� '�A /

= ��� !�� )#�!���#�� ������� ���� �� �1��0� ����� ! 4����'��  ���� �� !� !������ !� � ��� � 3
 � � �� � #<���0���#� ��� $���� ��� #�<�#�)#��� / �� )#������ ���  � >'��� � /� 1��  #��1��
 �  ���� ��� $# )� ��� ���  � <#�! �0��� !� 5 �� !� '�A 3 � �� )#� ���� � ���� �� !�0 ��� �� ���
�� ����!� !� >  �� ���� / 6�� �"� �� ! 4�� �'�� �� �#�� #<���0�� 1��  #��1��  �  ���� ��� $#2
)� ��� B ��#� �� ��� !� <#�! �0��� !� 5 �� !� '�A / �#��1��  �  ���� ��� $# )� ��� B ��� �����
�#����#� 3  � ��#��'���#� !�  ���� ��� � �� ��'� ���� 3 �  � ����  � $# )� �����#� ������  � !�
$���)���  ���� /

C� )#�) ���#� 3 )�� !��� #<���0���#�� 3 < ��� 1�� ��� � �� 3 �#�� � ��� ������ !� 0#�� 1��
 4���������  ���� ��� � ���� � �  #��1�� )� � �2)� ��� $# )� ��� ���  � <#�! �0��� !� 5 �� !� '�A /
?#�� ��#>��� !� � ������ ! 4���������  ���� �� ��#!���� !� ��"#���� ��� !� ���� #� 3 � 
!#�� !#�) ���� B ���#�� �  �� $�0#��< � !� $# )� ����  �  ���� �� 0#�����'� !� )���� �#����#� /
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z
!� $#"�� !�  ���� ��� ����#�� �� <#�! �0���

z0

!� 5 �� !� '�A / ��
�)*�� � !� ����)�� � !�  4��� �����)� ��� ���������� ���  � >'��� � /% /

6#� � � �#�� 0��#�� !�  � 0#�� 3 �� #�  � �#����#� !� $#"�� !�  ���� !���  � 5 �� !� '�A 3
 4���������  ���� � ���� � � ��  � 0# �� � ! 4������)��#� 0#�� )*��'�� / �#��  �� ��#)�����
��!����$� )���� �� )*������ � ����� !�� ��!���� !� 0# �� � ! 4������)��#�

V
7��#�#���#��� 

�� �#�<�� ! 4�� �������: 3 �� !�  4���������  ���� ��� ��� $#�)��#�
f(I)

3  � ��#!���
V ×f(I)

3
�� !#�)  � �#����#�  #�'���!��� �

z
!� $#"��  ���� !���  � 5 �� !� '�A �#�� !�� ����� �����

1�� !����� �����  � ��"#���� ��� �� �� ���  � � ��� � /

�� � ����� !�  4��������� !� ��"#���� ��� � �� $#�)��#� !�
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� ��� ��� ���� �#�� !�@�2
������ '�� � �� ! 4����'��� � �� �)��#����� !�� >  ���� ! 4� �� ����� 3 !� A��)#���� 3 !� ������ 3
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<��� ��� �'� B � � � /
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���  � >'��� � /- 3 � !�5 B ��� #<���0� !��� ! 4������ ��� �����)�� ! 4������)��#�  ����2'�A /
C   � � ��� ���� ��� �1��� ��� �� �@�� !� 0# �� � �� ���!������ 3 )#� � � �#��  4�0#�� !�5 B
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V × f(I)
/

�� )*������ � 3 �#�� �0#�� � #���� 1��  �� ��#)����� ��!����$�  �� � �� �� �#������ �#��
 �� ��"#���� ���� 3 !� ���� #� 3 !� � ��� �����* ��' 3 �� !� ��)#�<�����#�� ��!����0�� / 6���2
)� )�#���� �#�� �0�)  � �#�<�� ! 4�� ������� 3 ) 4��� B !��� �0�)  � 0# �� � ! 4������)��#� 3 �� #��
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!���  4�0# ���#� !�  � �������)� �� ��� �� $#�)��#� !�  � �#����#�
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 � �#����#� !�� � ���� � !����! !� ��#)����� ��!����$ /

�� >'��� � /� ����������  4�0# ���#� 3 ����� �� ��� ���1��� ��� 3 !�� �������)�� !� ��"#�2
��� ��� �� ���� �� $#�)��#� !�  � �#����#�

z
��� )*�)�� !� )�� ��#)����� / ?#�� )���� � #2

!� �����#� 3  �� )���)�������1��� !�  ���� �#�� � C 	 %/� � 3
τ
	 �D $� / � ��� $# )� ��� �0�)

��� ����<# � !� �DD � � !� !�����)� $# )� � !��� �� 5 �� !� '�A ! 4*� ��� !� � � � !�
!��� ���� / �� �#����#� A 	 D ����������  � <#�! �0��� !� 5 �� !� '�A / ��� �������)�� �� ����
��� ����� !� ��� �� �� !� 0# �� �� �#�� !#����� ���  �� ��������#�� � /, 3 � /� 3 �� , /%E 3 �#��
 �� ��"#���� ���� !� � ��� �����* ��' 3 !� ��)#�<�����#�� ��!����0�� 3 �� !� ���� #� /

�� )#������ ���  � >'��� � /� 1�� �#�� �#��  �� ��#)����� ��!����$� 3  � ��"#���� ��� �� ��
�������� 3 )#� � �  � ���� ��� !�  4��� �����)� 3 !��� � ���� � �� ��� � ������  #��1��  �  ����
��� $# )� ��� �� )����� !� 5 �� !� '�A / �� ������)� !�� !��� � ���� � �� !� � ������ ��� !��
B  4�@�� !� 0# �� � �  #��1��

z
��'� ���� 3  � 0# �� � )�# �� � ���  4���������  ���� � �� �� � �

!�� ���� / � �� ���� � #�� !��� � �� �� � !� ��#!���
V × f(I)
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=� $��� !�� !�� ��!��)�� �� ��������� !� )*�1�� ��#)����� ��!����$ 3  �� �#����#�� !��

� ���� � )*��'��� �� #�  � �"� � !� ��#)����� ��!����$ �
� �� ��"#���� ��� !� ���� #� ��� )� �� 1�� !�� ��!  � � �� !�  4���������  ���� 3 �� ����2

���)� )�#�� �0�) ∼ a2
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3 � ��� ����)��� �� ��� ��#!���  #��1��  �  ���� ��� $# )� ��� !���
 � 5 �� !� '�A / � 4�)��� �����  �� � ���� � ��� !�  4#�!�� !� � � � /

� �� �������)� !� ��"#���� ��� !� � ��� �����* ��' !����! � #��� !�  4��������� 7∼
√

ln(I) : �� � �� !� 0# �� � / � 4�)��� �����  �� � ���� � ��� !�  4#�!�� !� � � � /
� �� ��"#���� ��� !� ��)#�<�����#�� �#�0��� ���� ��#!���  #��1��  � '�A � 4��� 1� 4���

$#�� �#���� / � !�� ��! ��� !�  4���������  ���� 3 �� ��� !#�) � ������  #��1��  �  ����
��� $# )� ��� �0��� #� �����  � 5 �� !� '�A !� � ������ B � �� �� ����  �� 0# �� �� �#����� /
� 4�)��� �����  �� � ���� � ��� !�  4#�!�� !� � � � /
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= ��� )� )�� 3  � � ���� �� ! 4��������� !� ��"#���� ��� � ��� B ��� �#����#�
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 �1��  �  �  ���� ��� � �� !�$# )� ��� 1�� �#��  �� ������ ����'��� � / �� )#������ ��� ��  ����
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Energie ( eV )
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3 × 1018 ��
−3 


)� �
��

 ����

 "�
 	 ����
����� �� 
�����
�
�� $ 
�� ��
���"�
 ���
 	
� �	��� ��
� ���	��� 
� � ��
!�� 	�
�"�
 	
�
� �
������ �	
��
���"�
� ���� �!�	
� 
 (
��
 �� �
����
 �

� �
��	�"�
 ��� � 
� 	
� �
��
���� 
�������� ��		������
	� "�� ��
��
�� �
 �
����

 �� 
�����
�
� 
�� �� ���� � 	�� ����
���� 
 +� 

 ����
 � �
��
 �&�

 ����� 
�� 
� ����
� � 
� 	
 
���	���
���
��� ���
 	
 
�����
� 
�� �
 )�
� �
 "�� 
�� ����� 
����� �
 � 




�-� ���� � ��� � � ��
 �����
 ��������� �� ��

� �� � ��	
����� 	 � �� 	���
� �� ������ �
���������

.��� � ���  � "�
 	
� ��
����
����"�
� �� 
�����
�
�� $ �&�

 � � 
� 
�� ��

 
�
!
���
 ��
��
 
��	�"��
� ��
 	
 �
��
���� �
 
�����
� 
�� �
 )�
��
 + 	
 
�����
�
�� �
�� �� 
��

 "�� 
�� 	�
!
 
� ��"�� � �� ����
�&����� ������	
 
�� ������
�� 
 � �� ��������
 
��
�	�� ����
����
 	�
�"�
 	
 	��

 
�� ��	�
��� ��
��	��

� 
�� � ��� ���
����� �
��� 	�����

�
� 
�� � 
� 	� �
����� �	
��
���"�
 �� �	��� � � 
� 
�'� � �	 
�� ����� 
����� �� ���&

 �

���
!
 � �
 	 �
�� %�
 ���� �"�
 �� �	��� � 
 (
�
����� � � ����

� �
��
���� 
�������� � 
� 
��
 �
�'

 �

����
� �
� ��
����
����"�
� � 
��
�
� 
� ��

 � 	 ��
�!��
 �� 
�����
� 
�� $ �&�
�

 � 
 2�
� � �
� �
��
���� � �	 � � 	
 
�����
�
�� ��
����"�
 � �
��
�&	
� ���� �"�
� �
	
 
�����
�
�� �
 & 

� ���
��	��! � 	
 
�����
�
�� �
 

���&�������� 
������ 
� � � ���
����� � ���� �

����
� ���������� � 	
 
�����
�
�� �� �� ��
 �
� �	
��
��� 

	��� ���
� ���
��	�
�� ��
 ��		�!
 	��

 �
�����
�
�� �����
��
�� � & 

� ���
��	��!# 
 ���� �
��
 �
�����
	
� ��
����
����"�
� �
 ���"�
 �
��
���� ���� �����
�
� ��� �
��

� 
�� �
�� 
���	
� "�

���� � ��� �����
� ���� 	
� �
������ �
����
��
� 
 � 	 ����
 �
 �
� � 
��

� 
� �
 
���	����
�
 �����

 
���
�
��
� � ���� � ���
��� "� ������ �
 �
� ���

� �
��
���� �	�

������ �

 �
�'
 	 �
��
�&	
 �
� �&�

 ������ 
���
�� 
���	
� 


� �� �� �	
���
�
�� � ��	�������
� � �
��
���
� 	��� ���
�
�� ���� !"#�$ � %&��'�$#( )* � %)$*)'+,)* �"�' #( )* � -"- +�#./)' )$" �-!�#") ��$* ,)

!&��#"�) 0 
 12�-�#' )$"�,)' )$" 3 ,)* &��' �$#( )* $) � ) /)$" 4"�) )' !�!)' )$" ���� #")*
( ) *� * !)�"�#$)* !�$�#"#�$* �)*"�#!"#/)* + #, 5� " ( ) ,) ,�*)� *�#" ��,��#*- ,#$-�#�)' )$" )"
( ) , %#$")$*#"- ,�*)� *�#" �) , %����) �)

1015 6 7!' 2 

8�$* $�* !�$�#"#�$* )2�-�#' )$"�,)* 3 *# #, )$ )2 #*") 3 �)* &��'�$#( )* � %)$*)'+,)* �"�9

' #( )* � ) /)$" 4"�) ���� #")* 3 *�#" ��$* ,)* �#)�* �) , %#'� ,*#�$ ,�*)� ,��*( %#, )*" ��,��#*-
,#$-�#�)' )$" )" � )$��$" , %#$")�/�,,) �) ")'�* "�.* +�)5 �� � ,)( ), , %#$")$*#"- )*" #$5-�#) �)
: ∼ 1015 6 7!' 2 3 *�#" ,��*( ) ,) ,�*)� )*" * ' *�'')$" �-5� !�,#*- �� � ( ) , %#$")$*#"- *�#"
#$5-�#) �) : ∼ 1015 6 7!' 2 


;��' # , %)$*)'+,) �)* !���!"-�#*"#( )* � ��<�$$)')$" ( ) �/�$* ' )* �-)* 3  $) *) ,)
* ' " : * %�=��$!&#� � ���!)** * �) ���� !"#�$ � %&��'�$#( )* !�'') -"�$" : , %��#>#$) � 
��<�$$)')$" $ �+*)�/- 
 1$ )=)" 3 ,)* &��'�$#( )* $) � ) /)$" 4"�)* ���� #")* ( ) *# ,)
,�*)� )*" ��,��#*- ,#$-�#�)' )$" )" ,) ��<�$$)')$" $ ( ) $� * �+*)�/�$* )*" �, * #'���"�$"
,��*( ) ,) ,�*)� )*" ��,��#*- !#�! ,�#�)' )$" 
 ?�$!)�$�$" ,)* ' )* �)* 5�#")* ,��*( ) ,) ,�*)�
)*" ��,��#*- ,#$-�#�)' )$" 3 �)* &��' �$#( )* � ) /)$" 4"�) ���� #")* ,��*( ) ,) ,�*)� )*" "�.*
�-5� !�,#*- 3 !�'') ��� )2)'�,) ��$* ,) !�* �) ,� @> �) A 
) 


8 %� "�) ���" 3 ,� 5��' ) � *� )!"�) 3 ,) $�'+�) �) �&�"�$* ���� #" 3 ,)* >�'')* � %-$)�>#)*



� �� � � �
��

��� � ��� ��

 �
 ��� �����
 ����������
 ��0

$ 3 )" ,� !��#**�$!) ,#$-�#�) �/)! ,� �)$*#"- -,)!"��$#( ) � �,�*' � $) �) /)$" ��* 4"�)
)2�,#( -)* ��� !) "<� ) �) ���!)** * ���#�"#5 


� �� �� �	
���
�
�� �
 ��	�������� ���	 ���
8�$* , %&-,# ' 3 ,)* "��$*#"#�$* )$"�) -"�"* ,#- ���� #*)$" �)* �&�"�$* � %-$)�>#)* ->�,)*

: +
E1 = 7.5eV E2 = 21eV
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ne = 5 × 1018cm−3 )

*	 +,-. /0 /,. 1 20. 3,45--06 0-7. 80 9306 ..73,:2;-< 07 80 30/56=>-,>.5-. 3,8>,7>?0. .5-7
856 >-,-7. 07 20 .@ 0/730 -0 85>7 @,. @3A.0-703 80 @>/ 	 B2 85>7 8A/35C730 80 D,E5- 65-575-0 	

F0 3A.;27,7 80 2, 6 0.;30 0.7 30@3A.0-7A .;3 2, G<;30 � 	
� 	 H- ,//538 ,?0/ /0 I;> 0.7
,770-8; 1 20 .@ 0/730 -0 @3A.0-70 @,. 80 @>/ 1 >2 0.7 8A/35>..,-7 65-575-0 J @,37>3 80 2, @2;.
=,..0 A-03<>0 K 8A70/7A0 	 B2 4 , @2;. 80

1010 @:575-. @,3 7>3 2,.03 /5220/7A. 8,-. 2, =,-80
.@ 0/73,20 /0-73A0 .;3 LM 0N 	

+,-. /0. /5-8>7>5-. 1 20 .@ 0/730 0.7 856 >-A @,3 20. 3,45--06 0-7. 80 9306 ..73,:2;-< 07
80 30/56=>-,>.5-. 3,8>,7>?0. 	 O0770 6 0.;30 /5-G36 0 2, ?,2>8 >7A 80 2, 6 A7:580 ;7>2>.A0 07
20 D,>7 I;0 20 .@ 0/730 @>I;A 80 2, G<;30 � 	� 0.7 0- ,//538 ,?0/ 20 3,45--06 0-7 80 F,3653 	

P Q RSTUVWXTY ZS[\ UZ ][Y^XW_ _U[\W`TYXaV[ ]V bUZ^cZ

d5;. ,?5-. ?; 8,-. 2, .0/7>5- e 	L I;0 20 .><-,2 K 60.;3A /35>7 2>-A,>306 0-7 ,?0/ 2,
80-.>7A A20/735->I;0 8; @2,.6 , 	 O0@0-8,-7 1 253.I;0 20 3,45--060-7 K 0.7 6 0.;3A :53.
,f0 1 2, 6 0.;30 >-8>I;0 2, @3A.0-/0 8 g;- ,;730 @35/0..;. 3,8>,7>D ,4,-7 ;-0 /56@5.,-70
I;> /35>7 I;,83,7>I;060-7 ,?0/ 2, 80-.>7A A20/735->I;0 I; @2,.6 , 	

F, /35>..,-/0 2>-A,>30 80 2 g>-70-.>7A 8; 3,45--06 0-7 K ,?0/ 2, 80-.>7A A20/735->I;0 8;
@2,.6 , I;0 -5;. ,?5-. 6 0.;3A0 0.7 0- ,//538 ,?0/ /0 I;> 0.7 ,770-8; @5;3 20 3,45--06 0-7
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-06 0-7. 80 9306 ..73,:2;-< 07 80 30/56=>,->.5-. 3,8>,7>?0. I;> 85>?0-7 �730 856 >-,-7.
8,-. /0. /5-8>7>5-. 8 g>-703,/7>5- 	

� Q 
Z`XZWXTY ZS[\ UZ bTUZ`X^ZWXTY ]V UZ^[`

d5;. ,?5-. ?; I;0 20 3,45--06 0-7 K 60.;3A 0.7 @2;. >6@537,-7 253.I;0 2, @52,3>.,7>5-
8; 2,.03 0.7 />3/;2,>30 	 O0/> @ 0;7 ,;..> = >0- �730 ;-0 /,3,/7A3>.7>I;0 8; 3,45--06 0-7 80
F,36 53 I;0 8; 3,45--060-7 80 9306 ..73,:2;-< 	 H- 30?,-/:0 1 20 3,45--06 0-7 8� ,;f
30/56=>-,>.5-. 3,8>,7>?0. -0 85>7 @,. 8A@ 0-830 80 2, @52,3>.,7>5- /,3 /0 @35/0..;. 3,8>,7>D
- g0.7 >6@537,-7 I;0 253.I;0 2, 706@A3,7;30 8; @2,.6 , 0.7 .;� .,660-7 =,..0 	

O5660 -5;. 2 g,?5-. ?; 8,-. 2, .0/7>5- � 	� 1 2, 706@A3,7;30 8; @2,.6 , ,@3�. 20 @,..,<0
80 2 g>6@;2.>5- 2,.03 0.7 @2;. >6@537,-70 253.I;0 /02; >�/> 0.7 @52,3>.A />3/;2,>306 0-7 	 F0
3,45--060-7 80 9306 ..73,:2;-< 1 I;> 8A@ 0-8 80 2, 3,/>-0 80 2, 706@A3,7;30 8; @2,.6 , 1
85>7 85-/ �730 @2;. A20?A 8,-. /0 /,. 	

+ g,;730 @,37 1 20 3,@@537 80 2, @;>..,-/0 80 3,45--06 0-7 80 93066.73,:2;-< A6 >.
253.I;0 20 2,.03 0.7 @ 52,3>.A />3/;2,>306 0-7 1 @,3 2, @;>..,-/0 A6 >.0 253.I; g>2 0.7 @52,3>.A
2>-A,>306 0-7 1 85>7 8A@ 0-830 80 2 gA-03<>0 8; 3,45--06 0-7 K 	 H- 0�07 1 20 .@ 0/730 8; 3,45-�
-060-7 80 9306 ..73,:2;-< /:,-<0 253.I;0 2, 706@A3,7;30 8; @2,.6 , /:,-<0 �?5>3 .0/7>5-
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�) � 2 )" �) +�#,,�$!) ( # *�$" ,)*  $#"-* >-$-��,)' )$"  "#,#*-)* �� � !���!"-�#*)� �)*
*� �!)* �) ��<�$$)' )$" � �!5 � ?&��#"�) 0� �

�) � 2 �) �&�"�$* ' �<)$ )*" ->�, :
2× 103 �&7*7! �
 � �6 : � 
)� )" �"")#$"

6× 107

�&7*7! �
 � �6 : ! �
A 
)� � �� +�#,,�$!) ' �<)$$) /� "
1.5 × 104 �&7*7'' 27' ���27! �


� �6 : � 
)� )"
8 × 104 �&7*7'' 27' ���27! �
 � �6 : ! �
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)� �

���* �) $�* )2�-�#)$!)* 3 ,) �#! �) *� )!"�) � ��<�$$)')$" $ %-"�#" !)$"�- ( ) /)�* 
A!
)� 3 !)� )$��$" 3 )$ � >')$"�$" ,� /�,) � � ����' ."�)

a0

3 ! %)*" : �#�) , %#$")$*#"- ,�*)� 3 ,)
�#! � *� )!"�) � ��<�$$)')$" �) ���'�� )*" * ���*- *) �-!�,)� /)�* ,)* �, * >��$�)*
-$)�>#)* � � ���*( )

a0 = 10
3 ,) ��<�$$)' )$" �) ���'�� ��#" 4"�) �#( - : 
 
)� � 1$

�-!�,�$" ,) �#! � *� )!"�) � ��<�$$)')$" � � "� � �) 
 
)� 3 �) $�'+�) *)* ���,#!�"#�$*
�)/#)$���$" �,��* ��**#+ ,)* � 1$ )=)" 3 �,��* ( ) ,)* � 2 )" +�#,,�$!) �) ,� *� �!) � ( ) $� *
�/�$* ���� #") �� ���#)$" �-� : 4"�)* * � *�$"* �� � �)* )2�-�#)$!)* �) �#=��!"#�$ � � 
� %�+*���"#�$ � �-*�, )* )$ ")'�* 3 !) 29!# �)/#)$���$" �, * #' ���"�$"* �� �

a0 ∼ 10
�

?)�)$��$" 3 �/�$" � %)$/#*�>)� ,)* ��)' #.�)* ���,#!�"#�$* 3 � , *#) �* )2� -�#)$!)* �) !�9
��!"-�#*�"#�$* � ��<�$$)')$" � )" � %�' -,#���"#�$ �) ,� *� �!) �)*")$" )$!��) : 5�#�) �

◦ 	�$* )=)" �) /�, ') 3 , %#�)$"#@!�"#�$ �)* �#=-�)$"* ���!)** * ���#�"#5* �)/��#" 4"�)
�, * -/ #�)$") !�� ,) ���!)** * ���#�"#5 ��' #$�$" *)��#" ,) ' 4' ) * � , %)$*)'+,) � /�, ')
� %#$")��!"#�$ � ;� � * %�=��$!&#� �) , %)=)" �) /�, ' ) 3 $� * �� /�$* *�#" ->�,#*)� , %-��#**) �
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�� �� ��� � ������������ �

�) ,� !#+ ,) : ,� ,�$> ) � �) ��<,)#>& � ,�*)� 3 *�#" , %#$/)�*) � �$ �) " �� � !),�  "#,#*)�
*�#" �)* !#+ ,)* *�,#�)* @$)* � �)* � )"* �) >�� � ,*-* @$* �∼ 200 µ

' � 3 *�#"  $) ����+�,) �)
�, * >��$�) �#*"�$!) 5� !�,) �� 
 ' � � ;� � !) �)�$#)� !�* 3 #, 5� ���#" �, * � %-$)�>#) ,�*)�
�� � !�$*)�/)� ,� ' 4' ) #$")$*#"- * � !#+ ,) �

◦ �� * �/�$* �#" ( ) ,) �#! � *� )!"�) � ��<�$$)' )$" �) ���'�� �) " 4"�) �-!�,- : 


)� *# ,) ����'."�)

a0

�)/#)$" �) , %����) �) 
! � ?)"") /�,) � �)
a0

�) " 4"�) �"")#$") *�#"
)$ �<�$" �, * � %-$)�>#) ,�*)� �#*��$#+,) 3 *�#" )$  "#,#*�$"  $) ����+�,) �) !� �") �#*"�$!)
5� !�,) �∼ 10

!' � )" ,� ,�*)� 
!! �6 5�$!"#�$$�$" �!" ),,)' )$" � ��� � ?)�)$��$" 3 ��$*
!) �)�$#)� !�* 3 , %� >')$"�"#�$ �) , %#$")$*#"- ,�*)� * � !#+ ,) *) 5�#" � �-"�#' )$" � /�, ')
� %#$")��!"#�$ ( # �#' #$ ) �

◦ ;� �  $) -$)�>#) ,�*)� ��$$-) 3 ,) � 2 �) �&�"�$* : +�**) -$)�>#) � ) " 4"�) � >9
' )$"- )$ !&�#*#**�$" ,) /�, ') � %#$")��!"#�$ )" , %#$")$*#"- ,�*)� 3 *�#" ��$! ,� ����+�,) �)
5� !�,#*�"#�$ 3 ,)* ' #) 2 ����"-* �� � ���� #�)  $) -$)�>#) �) ��<�$$)' )$" � ��$$-) �

◦ � %)=)" �) ,� 5��!) �) ����), �)* #�$* � �,�*' � * � ,� �#*"�#+ "#�$ �$> ,�#�) � 
��<�$$)')$" �) ���'�� ��#" 4"�) -" �#- )2� -�#' )$"�,)' )$" � 1$ )=)" 3 #, � � ���#" 4"�)
��**#+ ,) �) ���� #�)  $) #'� ,*#�$ �) ��<�$$)')$" �) ���'�� �#�#>-) : �!

◦
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��<�$$)')$" � ���� #" )$ * %�=��$!&#**�$" �) ,� , ' #.�) � ,�*)� ( # �-"� #" ,)* @ ,"�)* )"
,)* ��"#( )* �

;� � @$#� 3 ,� @> �) � �)��-*)$") , %)$*)'+,) �)* *� �!)* �) ��<�$$)')$" �  ,"��9+�./)*
� 2( ),,)* $� * �/�$* �� � "- , %#'� ,*#�$ � ���� #") ��� ��<�$$)' )$" �) ���'�� : 
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 ��	 ���
�� 5���� �������' ������ ��� �� ����� ��� �������� ����� ��������� �������� �� !��������

� "��������� ��� �' �������� ����� � � "��������� �� ��� � �������� ��� ��������� ���� �����
���� � � #��� ������� �� � "�������� �� ' ��$�' ��� � "�� �������� ���' �� �� �&�'�� ~E ��
~B

� "�� ����� �

m
d~v

dt
= −e ~E − e~v × ~B %� �
&

m

(

∂~v

∂t
+ ~v.~∇.~v

)

= −e ~E − e~v × ~B. %� ��&
%� �'&

�� ���� ������ �� ����$�� ��������� �� �� $������ ��'' � ��� ��'' � � "�� ���' � ��������
~vL

�� � "�� ���' � ��� ��������
~vNL

�

∂~v

∂t
=
∂~vL
∂t

+
∂~vNL
∂t#� �������� ��� ���' �� �� ������ ��������� �� ��� ��������� �� ������� ��� ��� ��������� �

∂~vL
∂t

= − e

m
~E %� �(&

��
m
∂~vNL
∂t

= −~vL.~∇.~vL − e~vL × ~B %� �)&
� ������ �� ����� �����*�� �������� + �� ��,�� �� ����� �������' ������ ~FNL + ���� � "� -

�������� ��� ������ ��� �

~FNL = −m~vL.~∇.~vL − e~vL × ~B %� ��&

)�
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�� ���� ��' ���,�� ����� � �������� �� ������� �� ���������� �� � "� �������� � �( 	

~B =
e

m
(~∇× ~vL)

�� �� ��'������� ~B ���� � �
 	

~FNL = −m~vL.~∇.~vL −m~v(~∇× ~vL) %� ��&
=

1

2
m∇~v2

L. %� ��&
%� ��&

����� �����*�� �������� ���� � "� ���' �� �� �������� �� � "��������� ����� %$ �� �� �&�' �
���������� ��� �������� ���� � "� �������� �� �� $ ������

~v
& 
 �� ������� ����� � "� ��������

������� �� �� ����� �������' ������ 	

~FNL = − e2

2meω2ε0
~∇I %� �
�&

�� �������� ��� �� ����� �������' ������ ��� ��������������� �� !������� �� � "���������
����� � #��� ��� �'�������� ��� ��� ������ ������ + ��'������ �� ������ + �� � "�'������� ����� �
��� �'�������� ��� ��� �� �� �� ���������� �� ����� �� �� �� ���' � �� ���,� ��' ����� ��
� "�'������� ����� �

������� ��� � �' ���� ���� ��������� �� ������ � ����������� ��� �� ����� �� � "�' -
������� ����� ���� �!��� � '� �� �� ��� ���� �-�� ���� �� ������ ���� ��� ���&� �� 
�

µ
' ��

����� � � ��� �� ��� + �� ���� �� ����������� �� ����� ��� ��'' � ����� ��� ��&*�� �� 
�
µ
'

�� ���' *��� � ��� !�������� � "��������� + �� ��� ���������� �� ����� �������' ������ + ����
������� �� � #� ����������� ' ��������� ��� �� ����� ���� �� ������ ���� �� ���&� �� (�

µ
'

�� ����� �� ��� �� ����� ����� �� '� �� � �� ���� ����� ���������� �� ����� ��'' � ����� ��
���' � � "�� ������ � ��� !�������� � "��������� + �� ��� ���������� �� ����� �������' ������ +
���� ���� �'�������� ���� �� ��������� ���!��������� �

� "� �������� ���������� �� �� ����� �������' ������ � "��� $������ ��� ���� �� ��!�' �
��� ������$ ���� � #� ��!�' � ������$ ���� � "��������� �� � "� �������� �� ����� ����� ��� ��
�����*' � ��' ��� � ��
	 ' ��� ��� �� �� ����� �� ' �' � �
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" #$ % &&'(' $ ) *+,-./0& &0& 1/&2-/3' 4' 1- 56-1',3
789: ;<=;9=>: =< ?9@AA<B;> CD @A> ?<: =>A ?:8;>AA9A :<E@<F@GA <H<BF =@>9 <?:IA => ?<AA<J>

E9 =<A>: K @= >AF @D?8:F<BF E> ;8BB<LF:> => M8=9D > >F =< F>D?C:<F9:> E9 ?=<AD < >B G8B;F@8B
E9 F>D?A �

N<BA ;> O9F K 8B ?>9F 9F@=@A>: 9B D8EI=> A@D?=> P => ?=<AD < >AF E> AHDCF:@> ;H =@BE:@Q9> K
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Te0
K >F =< ECF>BF> E9 ?=<AD < A> G<@F ?<: ;8BE9;F@8B FR>:D @Q9> �
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neT

∂t
= ∆rκT − Ep [
 ���\

κ = 4.67 × 10−12 × T 5/2

ZlnΛ
[
 ��Z\
[
 ��X\

8]
∆r
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ne
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κ
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Z
>AF
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 	� ����� �������� 
 ���� λe−i ��� �� ����� 	� ��� ��
wz � z ��
 �� � ���
��� ��� ���� ��
 �� � ���� 	� ��� ��� �� 
 �	��� ��
 ������� ������ � �� ���� ��
��
 ��� ����� � ��

�� ' ��*�� �� ������� ������� �� ����' � � "��� $������ ��� ���� �� ����' � ������������
���� ������ �� ����� �������� ' ���� � "�� �������� ��� ��������� � �� ��' ������ �������
�� ����' � � ���� �'���� ��� ��������� ��� �� ��' �������� �� ����' � + �� ������� + �� ��
��' ������ + ��,��� ��� 	

λe−i < w %� �
(&
��

λe−i
��� �� ����� �������� ' ���� ��,�� ��� 	

λe−i(
�'

) = 1.5 × 1019E
2 % 
�� &

neZln(Λ)

��
w

��� ����� �� ����' � ��� � "�� ������*�� %����� �' ����� & ��'' � �!��� �� ����� ��
����� �

�� ,!��� � �� ���������� �� �������
λe−i/w

�� �������� �� �� ��������
z
��� ������� ��

����� ����� � #��� � ��� ����� � ������ �� � "������������� � "�� ����  !" ������� �� ��'��������
�� �������� �� � "��������� ����� %� �������� ���������� ��� ��������

z
& # $� ��������� � "���

$���,�� ��� �������
z

��� ���� !���� ��� � '' ��$ ���� # ����� ����� ��!��� �� ����' � ���
�������������� # % �' � �� ���� �� �������� ��� � "����'��� �� ����' � + ���� ���������� � ��
$���' � �' ������� #

$ "�������� �� �� �&����� ��� ����!��� ��' ������' ��� �� ��������� �� ' ��&��� ��� ���-
�������� ,���� �� �� ��&�' � � "����!������ �'������� �� ��' �� #

��� ������ + ��� &� �� �&����� ���� !�������' ��� ���� �'�������� ������ "��� ���� �����-
' ��� ������� ��� � "� �������� � #''# "�� ��������� �� $������ �&��' ���� ������������ ������
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��� � "� �������� 	

vTe =

(

kTe
me

)1/2

= 4.19 × 107T 1/2
e

���� �$���� ��� �� $������ �� &� �� �&����� ������� �� $������ �&��' ���� ������������ + ��
���� ���� �� ����� �� ��' ����� �� &� 

flim =
+ ���� � �$ ���� �� ��������$ ��� �&��' ���� ��� ���

��������� � �&����� �� ' ���*�� � �� ��� �� $������ �� ������� ���� ���������� � �� $ ������
�&��' ���� ������������ #

$� ,!��� � #' ���������� �� ��'�������� ������������ �� �������� �� �� �������� �������
r
�� ' ������ �� ���� ��� ������� $������ �� ��'�� # $� ��'�������� �� ������ ��� �!���

Te0 =

5 × 106 ◦K �� �� ������� �� ����' � ���
ne = 1019cm−3 #

�� $��� ��� �� ,!��� ��� �� ����' � �� ������ ������' ��� + �� ��'�������� �&��� � "��
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